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Questions 1 to 4. Read the following passage and
select the correct answer for the questions after
it.

Aboylaughed and randownthe path. Aparrot suddenly
screeched, flew low over his head, a flash of red and
green. The bird disappeared amongst the trees.

A trickle of water came from the hillside, and the boy
stopped to drink. The water was cold and sharp, but
very refreshing. However, it seemed to have the effect
of making him more thirsty. The sun was striking his
side of the hill, and the dusty path became hotter, the
stones scorching the boy’s feet. He was sure he had
gone halfway; he had walked for over an hour.

Presently he saw another boy ahead of him, driving a
few goats down the path.

How far is the river? He asked.

The village boysmiled in a friendly wayand said, ‘oh,
not far, just round the next hill and straight down.’

The boy, feeling hungry, unwrapped his loaf of bread
and broke it in halves, offering one portion to the village
boy. Theysat on the hillside and ate in silence.

1. This passage is an example for:

a. Autobiography. b. Description.

c. Biography. d. Profile.

2. Which is the synonym of the word scorching given
in the passage.

a. Hot. b. Very cold.

c. Very hot. d. Cold.

3. Identifytheexpression todescribe theflowofwater.

a. Hisses. b. Roars.

c. Chirping. d. Trickle.

4. The boy unwrapped his loaf of bread and broke it
into halves, offering one portion to the village boy.
What attitude of the boy is revealed here?

a. He has the good qualityof sharing things with
others.

b. He has the qualityof loving others.

c. He has the qualityof inspiring others.

d. He is empathetic in nature.

5. Which one is the correct sentence.

a. I could sense the cool breeze.

b. I could see the cool breeze.

c. I could hear the cool breeze.

d. I could touch the cool breeze.

6. If you invite me, I _________

a. Will come there.

b. Would come there.

c. Could come there.

d. Can come there.

7. Which word is correctly spelt?

a. Freckuently.

b. Frequently.

c. Frecuently.

d. Frekuently.

8. ‘A bird in the hand is worth two in the bush’ the
proverb means that ….

a. One good person can get the job done quicker.

b. If you eat the right food, you will be healthy.

c. Don’t take the chance of losing something you
have, in search of something better.

d. Youcan’tbesureaboutsomethinguntilyoutryit.

9. The path _________ the river dropped steeply
_________ the valley.

a. for, into. b. to, in.

c. of, into. d. to, into.
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10. Choose the suitable one from the following to get
the meaning of ‘get across.’

a. To communicate clearly.

b. To overcome.

c. Tofinishsomethingcompletely.

d. To rise from bed.

Fill in the blanks with the most appropriate usage given
below.

11. Aperson who goes on a long journey.

a. Tourist. b. Wanderer.

c. Hermit. d. Voyager.

12. Atool used for digging soil.

a. Knife. b. Spade.

c. Rake. d. Crowbar.

Read the poem and answer the questions given
below.

The sun does arise

And make happy the skies

The merrybells ring

To welcome the spring

The skylark and thrush

The birds of the bush

Sing louder around,

To the bells’cheerful sound,

While our sports shall be seen

On the echoing green.

Old John with white hair

Does laugh away care,

Sitting under the oak,

Among the old folk.

They laugh at our play,

And soon they all say:

Such, such were the joys.

When we all girls and boys

In our youth-time were seen

On the echoing green.

13. Old John with white hair. ‘White hair’means

a. Old age. b. Childhood.

c. Adolescence. d. Middle age.

14. Who welcomes the Spring?

a. Owl. b. Skylark and thrush.

c. Peacock. d. Horn Bill.

15. Alarge group of people who play music together.

a. Band.

b. Lead Singer.

c. Orchestra.

d. Composer.
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ANSWER KEY

1. B Description

2. C Very hot

3. D Trickle

4. A He has the good qualityof sharing things with others

5. A I could sense the cool breeze

6. A Will come there

7. B Frequently

8. C Don't take the chance of losing something you have, in search of something better.

9. D to, into

10. A to communicate clearly

11. D Voyager

12. B Spade

13. A Old age

14. B Skylark and thrush

15. C Orchestra
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1. Select the method which produces hundreds of
plantlets withall parental qualities

a. Budding b. Tissueculture

c. Layering d. Grafling

2. The proverb “ vazha Nanayumbol Cheerayum
nanayum” is related to which cultivation method

a. Inter cropping

b. Crop rotation

c. Mulching

d. None of these

3. Identify the ecofriendlyproduct

a. Plastic bucket b. Jute sack

c. Tyre d. Bulb

4. Which lens is used to rectifyshortsight

a. Concave lens b. Convex lens

c. Cylindrical lens d. Glass sheet

5. The phenomenon which helps in the formation of
an Image

a. Diffusereflection b. Refraction

c. Dispersion d. Regular reflection

6. Which type of mirror is placed at sleep roads and
curves

a. Concave mirror b. Plain mirror

c. Convex mirror d.All of these

7. Which solution is suitable to reduce the pain
caused due to ant bite.

a. Lemonjuice b. Soap water

c. Buttermilk d. Tomato juice

8. Which acid is produced in the stomach.

a. Hydrochloric acid

b. Nitric acid

c. Sulphuricacid

d. Acetic acid
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9. Identify the alkali used in soap making

a. Calciumhydroxide

b. Ammoniumhydroxide

c. Aluminiumhydroxide

d. Sodium hydroxide

10.From the solutions given below, select the
solutions, which do not cause anycolour change
to the Red litmus paper

(i) Lime water (ii)Vineger (iii) Salt Solution (iv)
Soap Solution (v) Sugar solution

(a) i, iv,v (b) ii, iii,iv

(c) ii,iii,v (d) iii, iv, v

11. Name the bacteria which is seen in the root
nodulesof leginminousplants

(a)Acteto bacter (b) Nitro bacter

(c)Rhizobium (d) E. coli

12. In a periscope mirrors should be arranged at an
angleof

(a) 30 (b) 45o (c) 60o (d) 90o

13. Raju and Radha were doing an experiment using
different mirrors. Raju got an image on the wall,
but Radha failed to get the imade which type
mirror did Raju used

(a) Concave mirror

(b) Convex mirror

(c) Plain mirror

(d) None of these

14. Identify the method of producing new plant let
after sprouting roots on the branches of the
parent plant

(a)Grafting (b) Budding

(c) Hybridisation (d) Layering
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15. Name the gas which means “ water producing”

(a) Oxygen

(b) Hydroxygen

(c) Nytrogen

(d) Carbon dioxide

16. The malayali, who is well known for protection
and conversation of mangroves

(a) Kallen Pokkudan

(b) Sundarlal Bahuguna

(c)Vandanasiva

(d) Sugathakumari
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ANSWER KEY

1. B – TISSUE CULTURE

2. A – INTER CROPPING

3. B - JUTE SACK

4. C – CONCAVE LENS

5. D – REGULAR REFLECTION

6. C – COVEX MIRROR

7. B – SOAPWATER

8. A – HYDROCLORIC ACID

9. D – SODIUM HYDROXIDE

10. C – [ ii, iii, v]

11. C – RHIZOBIUM

12. B – 45

13. A – CONCAVE MIRROR

14. D – LAYERING

15. B - HYDROGEN

16. A – KALLEN POKKUDAN
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1) In the picture belowAB//CD-

Find the value of CDG

a) 85o b) 30o c) 150o d) 120o

2)

Measurement of EHG of EFG

a) 100o b) 85o c) 95o d) 105o

3)

In the figure PQR is three times the SQT.

Find the measurement of PQR

a) 50o b) 70o c) 120o d) 25o

E

H

xo

yo

50o

G
F 40o
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4)

In the figureAB// CD. Find the values of X andY

a) x = 110o y = 130o

b) x = 100o y = 85o

c) x = 95o y = 80o

d) x = 100o y = 95o

5)

In the figure EF // GH Find the measurement of
JHI

a) 40o b) 50o c) 30o d) 65o

A C

B

D

G

120o

30o

R

S

P Q T

20o

A C

X

Y

DB

85o

80o

E

F

J

H

I

G

70o

40o

xo
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6.

In the figure MN// RS, PQ//ST . Find the mea-
surement of SPQ

a) 80o b) 100o c) 70o d) 110o

7.

In the figure AB//CD. Find the measurement of

QEB

a) 150o b) 160o c) 145o d) 120o

8.

In the figure PQ//ST PQR = 110o RST =

120o . FindQRS

a) 50o b) 60o c) 70o d) 40o

9. The average of 5 consecutive natural numbers is
'a'. If the next two numbers are also included, the
average of 7 numbers will be

a) a b) a-1 c) a+1 d) 2a

10. The average of (1, 3, 5, 7 ......... 497, 499) odd
numbers up to 499 is

a) 250 b) 251 c) 249 d) 500

N S T

Q
P

RM

70o

C

P

D

B
E

Q

A

40o

120o

11. What is the algebric expression of half of a
number.

a) x
2

1
b)

2

2x
c) x2 d)

2

yx 

12. Anumber isaddedtohalfofanothernumber.What
is the algebraic expression.

a) yx
2

1
 b) xy

2

1

c) yx 
2

1
d)

2

xy

13.

What is the sum of these numbers?

a) 9x b) 9x + 9 c) 9 d) 0

14.

This square is taken from a calender. Then what
will be y?

a) 8 b) 9 c) 7 d) 6

15. Half of 20Z

a) 102 b) 192 c) 402 d) 10

16. Which is equivalent to 5100 ?

a) 550 + 510 b) 550  550

c) 599 + 5 d) 520  55

17. Which of these numbers does not have 36 fac-
tors

a) 22  33  52 b) 28  5  3

c) 92  55  72 d) 735

18. 25  24 = ?

a) 29 b) 2

c) 220 d) 23

x-8 x-7 x-6

x-1 x x+1

x+6 x+7 x+8

Y 10

16 17

P
Q

S

R

T

110o

120o
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19. In the picture below the shaded portion is
10

1

of the whole circle. Find AOB

a) 36o b) 9o c) 18o d) 27o

20. If the selling price of 8 apples is equal to the cost
price of 9 apples. Find the profit percent.

a) 1% b) %
2

1
12 c) %

9

1
11 d) 10%

A B

O
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ANSWER KEY

1. (C) 2. (B) 3. (C) 4. (D) 5. (C) 6. (D)

7. (B) 8. (A) 9. (C) 10. (A) 11. (A) 12. (A)

13. (A) 14. (B) 15. (B) 16. (B) 17. (C) 18. (B)

19. (C) 20. (B)

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER

(PAPER - I) (PART - C)

MATHEMATICS - SET - I. EM

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
Reg. No: ER 7/2012



Xøm-dm-°n-bXv̨dntkmgvkvSow
Sot®gvkv¢∫vtIme-t©cn̨ 9446762687

1) Which is the digit in the one's place of 4100 + 677

a) 0 b) 4 c) 2 d) 6

2) Write the number of factors of 64  5

a) 16 b) 10 c) 25 d) 50

3) 5122 x . Then what is the value of x?

a) 10 b) 9 c) 18 d) 7

4) What will we get when we devide 0.0001 by

100000

1
?

a) 1 b) 0.1 c) 0.01 d) 10

5) Dividing a number by6, gives the remainder 5 and
dividing another number by 6 gives the remainder
4. What will be the remainder when you divide the
product of these numbers by 6.

a) 3 b) 5 c) 4 d) 2

6) When you add 1 to the product of two alternative
natural numbers. We get the square of the middle
number (7 9) + 1 = 82 . Which is the algebraic
form suitable to this equation?

a) n (n+1) + 1 = n2 b) (n-1)  (n+1) +1 = n2

c) (n+1) (n+2) +1 = n2 d) (n-1)  (n+1) = n2

7. 13 = 1

13 + 23 = 9

13 + 23 + 33 = 36

13 + 23 + 33 + 43 = 100

............................................

............................................

............................................

13 + 23 + 33+ .................. + 103 = ?

a) 1002 b) 553 c) 552 d) 1003

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER

(PAPER - I) (PART - C)

MATHEMATICS - SET - II. EM

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
Reg. No: ER 7/2012

8. ?2

10

5

 x
x

x

a) 5

2

x

x
b) 2

5

x

x
c) 7x d) 7

1

x

9.  433 nn  is equal to

a) n15 b) 12

1

n
c) 3

1

n
d) 10

1

n

10. ?
121212

121212
123

22




 o

a)
144

12
b)

144

1
c) 5

5

12

12
d) 6

4

12

12

11. AB || CD. Which of these lpairs is not equal?

a) (1, 5) b) (2, 5) c) (1, 4) d) (3, 4)

12. In the figure AB || CD BAC = 60o, BCA =
80o Find BCD

a) 50o b) 40o c) 60o d) 80o

A

B

D

C

1

2

3 4

6

5

A

B
D

C
E

60o
80o

1
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13. In the figureAD BC BAC ?

a) 100o b) 120o c) 110o d) 105o

14. In the figure BC || PQ. What is the value of x?

a) 50o b) 110o c) 70o d) 60o

15. Find the number of linear pairs in the figure.

a) 3 b) 4 c) 5 d) 6

16. When three lines intersect at a point each of the
angles formed are equal. Find the angles.

a) 90o b) 60o c) 45o d) 30o

17. In the figure PQ || BC. Find the value of x

a) 50o b) 62o c) 68o d) 130o

A

40o

B D C

A

P Q

B C

110o

130o

xo

A

B

C

X

Y

18. AOQ ?

a) 150o b) 140o c) 100o d) 110o

19. Find the number of factors of 72 = 23 32

a) 10 b) 6 c) 5 d) 12

20. 5x = 625. Then find 5x-1

a) 3125 b) 125 c) 624 d) 25

A

P
Q

CB
68o

xo

62o

R
Q

BO

P

A

70o

30o
30o
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ANSWER KEY

1. C) 2. (D) 3. (C) 4. (D) 5. (D) 6. (B)

7. (C) 8. (D) 9. (A) 10. (B) 11. (C) 12. (B)

13. (C) 14. (D) 15. (B) 16. (B) 17. (A) 18. (A)

19. (D) 20. (B)

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER

(PAPER - I) (PART - C)

MATHEMATICS - SET - II. EM

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
Reg. No: ER 7/2012



Xøm-dm-°n-bXv̨dntkmgvkvSow
Sot®gvkv¢∫vtIme-t©cn̨ 9446762687

1) X∂n-cn-°p∂ Nn{X-Ø n¬ AB//CD-F¶n¬

CDGbpsS A f-sh{X?

a) 85o b) 30o c) 150o d) 120o

2)

X∂n-cn-°p∂ EFGbn¬ EHGbpsSA f-sh{X?

a) 100o b) 85o c) 95o d) 105o

3)

Nn{X-Ø n¬ PQR,SQTbpsSaq∂vaS-ß mW v

F¶n¬ PQR s‚ A f-sh{X?

a) 50o b) 70o c) 120o d) 25o

E

H

xo

yo

50o

G
F 40o
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4)

Nn{-XØ n¬ AB// CD F¶n¬ X s‚ hne-

sb{X?YbpsShne-sb{X?

a) x = 110o y = 130o

b) x = 100o y = 85o

c) x = 95o y = 80o

d) x = 100o y = 95o

5)

Nn{X-Ø n¬ EF // GHF¶n¬ JHIbpsSA f-
sh{X?

a) 40o b) 50o c) 30o d) 65o

R

S

P Q T

20o

A C

X

Y

DB

85o

80o

E

F

J

H

I

G

70o

40o

A C

B

D

G

120o

30o

xo
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6.

Nn{X-Ø n¬ MN// RS, PQ//ST F¶n¬ SPQ
bpsS A f-sh{X?

a) 80o b) 100o c) 70o d) 110o

7.

Nn{X-Ø n¬ AB//CD F¶n¬ QEB bpsS
A f-sh{X?

a) 150o b) 160o c) 145o d) 120o

8.

Nn{XØ n¬ PQ//ST PQR = 110o RST =

120o . QRS s‚ A f-sh{X?

a) 50o b) 60o c) 70o d) 40o

9. XpS¿®-bmb5kwJy-I-fpsSicm-icn'a' B W v.
A SpØ c≠ vkwJy-Iƒ IqSntN¿Ø m-ep-≠m-

Ip∂ 7kwJy-I-fpsS icm-icnF{X?

a) a b) a-1 c) a+1 d) 2a

10. 1apX¬ 499hsc-bp≈ XpS¿®-bmbH‰kwJy-

I-fpsS icm-icnF{X?

(1, 3, 5, 7 ......... 497, 499)

a) 250 b) 251 c) 249 d) 500

Q

11. HcpkwJy-bpsS]Ip-Xnsb_oP-K-W nX cq]-
Ø n-se-gp-Xp-I.

a) x
2

1
b)

2

2x
c) x2 d)

2

yx 

12. HcpkwJybpwas‰mcpkwJy-bpsS]Ip-Xnbpw
Iq́n-b-Xns‚ _oP-K-W nX cq]-sa¥v?

a) yx
2

1
 b) xy

2

1

c) yx 
2

1
d)

2

xy

13.

CukwJy-I-fpsS XpI-sb{X?

a) 9x b) 9x + 9 c) 9 d) 0

14.

Cuka-N-Xpcw HcpIe-≠-dn¬ \n∂vsh́n-

sb-Sp-Ø -Xm-W v.F¶n¬ Y bpsShne-sb{X

a) 8 b) 9 c) 7 d) 6

15. 220 s‚ ]Ip-Xn-sb{X?

a) 102 b) 192 c) 402 d) 10

16. 5100 \vXpey-am-bXvG Xv?

a) 550 + 510 b) 550  550

c) 599 + 5 d) 520  55

17. NphsS sImSp-Ø n-cn-°p∂ kwJy-I-fn¬ G Xv
kwJy-°mW v36L S-I-ß -fn-√m-Ø -Xv.

a) 22  33  52 b) 28  5  3

c) 92  55  72 d) 735

18. 25  24 = ?

a) 29 b) 2

c) 220 d) 23

x-8 x-7 x-6

x-1 x x+1

x+6 x+7 x+8

Y 10

16 17

N S T

Q
P

RM

70o

C

P

D

B
E

A

40o

120o

P
Q

S

R

T

110o

120o
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19. NphsS sImSpØ n-cn-°p∂ Nn{X-Ø n¬ sjbvUv

sNbvX m̀Kw hrØ -Ø ns‚
10

1
m̀K-amW v

F¶n¬ AOBbpsS A f-sh{X?

a) 36o b) 9o c) 18o d) 27o

20. 8B ∏n-fns‚hn‰hnebpw9B ∏n-fns‚apS-°p-
ap-Xepw Xpey-am-bm¬ em̀-i-X-am\wF{X?

a) 1% b) %
2

1
12 c) %

9

1
11 d) 10%

A B

O
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ANSWER KEY

1. (C) 2. (B) 3. (C) 4. (D) 5. (C) 6. (D)

7. (B) 8. (A) 9. (C) 10. (A) 11. (A) 12. (A)

13. (A) 14. (B) 15. (B) 16. (B) 17. (C) 18. (B)

19. (C) 20. (B)
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1) 4100 + 677 F∂ kwJy-bpsS H‰-bpsS

ÿ m\sØ A °w G Xv?

a) 0 b) 4 c) 2 d) 6

2) 64  5F∂ kwJybv°vB sIF{X L S-I-ß -
fp≠v?

a) 16 b) 10 c) 25 d) 50

3) 5122 x F¶n¬ x s‚ hne-sb{X?

a) 10 b) 9 c) 18 d) 7

4) 0.0001 s\
100000

1
sIm≠ vlcn-®m¬ Ińp∂

kwJy-tbXv?

a) 1 b) 0.1 c) 0.01 d) 10

5) HcpkwJysb6 sIm≠ vlcn-®-t∏mƒin„w 5
Ińn.as‰mcpkwJysb6 sIm≠ vlcn-®-t∏mƒ
in„w4Ińn.Cuc≠ pkwJy-I-fp-tSbpwKpW -
\-̂-esØ 6 sIm≠ vlcn-®m¬ injvSwF{X?

a) 3 b) 5 c) 4 d) 2

6) H∂n-S-hń c≠ vFÆ¬ kwJy-I-fpsS KpW \
ê-tØ mSv1Iq́n-bm¬a[y-kw-Jy-bpsSh¿Kw
Ińpw.(7 9) + 1 = 82 Cu{]kvXm-h-\bv°v

tbmPn® _oP-K-W nX cq]w Xmsg-sIm-Sp-Ø -h-

bn¬ G Xv?

a) n (n+1) + 1 = n2 b) (n-1)  (n+1) +1 = n2

c) (n+1) (n+2) +1 = n2 d) (n-1)  (n+1) = n2

7. 13 = 1

13 + 23 = 9

13 + 23 + 33 = 36

13 + 23 + 33 + 43 = 100

............................................

............................................

............................................

13 + 23 + 33+ .................. + 103 = ?

a) 1002 b) 553 c) 552 d) 1003
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8. ?2

10

5

 x
x

x

a) 5

2

x

x
b) 2

5

x

x
c) 7x d) 7

1

x

9.  433 nn  F∂-Xn\vXpey-taXv?

a) n15 b) 12

1

n
c) 3

1

n
d) 10

1

n

10. ?
121212

121212
123

22




 o

a)
144

12
b)

144

1
c) 5

5

12

12
d) 6

4

12

12

11. Nn{XØ n¬ AB || CD.

NphsSsImSp-Ø n-c-°p∂ tPmSn-I-fn¬ Xpey-a-

√m-Ø XvG Xv?

a) (1, 5) b) (2, 5) c) (1, 4) d) (3, 4)

12. Nn{XØ n¬ AB || CD F¶n¬ BCD bpsS
A f-sh{X?

a) 50o b) 40o c) 60o d) 80o

A

B

D

C

1

2

3 4

6

5

A

B
D

C
E

60o
80o
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13. Nn{XØ n¬AD  BCF¶n¬ BACF{X ?

a) 100o b) 120o c) 110o d) 105o

14. Nn{XØ n¬ BC || PQ. x s‚ A f-sh{X?

a) 50o b) 110o c) 70o d) 60o

15. Nn{XØ nsetcJob tPmSn-I-fpsS FÆ w.

a) 3 b) 4 c) 5 d) 6

16. aq∂p-tc-J-IƒHcp_nµp-hn¬ Jfi n-°p-tºm-gp-

≠m-Ip∂ F√mtImW p-IfpwXpey-am-bm¬ Hcp

tImW ns‚ A fhvF{X?

a) 90o b) 60o c) 45o d) 30o

17. Nn{X-Ø n¬ PQ || BC.F¶n¬ x s‚ hne-sb{X?

a) 50o b) 62o c) 68o d) 130o

A

40o

B D C

A

P Q

B C

110o

130o

xo

A

B

C

X

Y

18. AOQ F{X ?

a) 150o b) 140o c) 100o d) 110o

19. 72 = 23 32 B bm¬ L S-I-ß -fpsSFÆ-sa{X?

a) 10 b) 6 c) 5 d) 12

20. 5x = 625 B W vF¶n¬ 5x-1 = ?

a) 3125 b) 125 c) 624 d) 25

R
Q

BO

P

A

70o

30o
30o

A

P
Q

CB
68o

xo

xo

62o
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ANSWER KEY

1. (C) 2. (B) 3. (C) 4. (D) 5. (D) 6. (B)

7. (C) 8. (D) 9. (A) 10. (B) 11. (C) 12. (B)

13. (C) 14. (D) 15. (B) 16. (B) 17. (A) 18. (A)

19. (D) 20. (B)

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER
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Total Score: 20
MATHEMATICS - SET - II. MM
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USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER

(PAPER - II) (PART - C)

SOCIAL SCIENCE - SET 1 - EM

1. The epitome of the architectural splendour, Hagia
Sophia is now situated in:

a) Italy b) England
c) Turkey d) Germany

2. The erstwhile Capital of the Eastern Roman Empire
Constantinople is now known as

a) Pakistan b) Istanbul

c) Afghanistan d) Myanmar

3. Which one is not a feature of Renaissance ?

a) Religious ideology b) Humanism

c) Spirit of enquiry d) Reasoning

4. Which are the languages considered elite and
schololarly in Europe in medieval period.

a) English and Spanish b) Spanish and French

c) Greek and Latin d) French and English

5. Who is known as 'The Father of Renaissance'?

a) Leonardo da vinci b) Petrarch

c) Raphel d) Dante

6. Identify the wrong pair.

a) Boccacio-Decameron

b) Michelangelo -The last supper.

c) Cervantes - Don Quixote

d) Donatello - Gattamelata

7. Who propounded the theory of solar system.

a) Copernicus b) Galileo Galilei

c) Guttenberg d) Martin Luther

8. Identify the correct pair.

a) Telescope - John Kay

b) Steam Engine -James Watt

c) Locomotive - James Hargreves

d) Guttenberg - Flying Shuttle

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
Reg. No: ER 7/2012

9. Where did Industrial Revolution begin ?

a) Italy b) Germany

c) France d) England

10. Which is the machine used in textile industry?

a) Steam engine

b) Flying shuttle

c) Locomotive

d) Printing machine

11. Which is the first European Country that reached
India for trade?

a) The Portugese b) The Dutch

c) The French d) The English

12. When did the portugese reach India?

a) 1453 b) 1857

c) 1757 d) 1498

13. Which are the major trade centres of the Portugese?

a) Goa, Daman, Diu

b) Kochi and Kollam

c) Madras, Calcutta, Bombay

d) Pondicherry, Mahe, Karakkal

14. Who is the admiral of Zamorin who resisted the
Portugese in the Malabar region?

a) Tipu Sultan b) Paliathachan

c) Kunjali Marakkar d) Hyder Ali

15. From which place was 'Hortus Malabricus' published.
a) Chili b) Kerala

c) Amsterdam d) Italy
16. Which Battle laid the foundation stone for the British

rule in India:

a) Mysore war b) Battle of Kolechal
c) Battle of Plassey d) Battle of Buxar
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17. Which are the princely states annexed by the British
through 'the Doctrine of Lapse.'

a) Jhansi, Sathara, Nagpur

b) Hyderabad, Tanjavore, Indore

c) Malabar, Coorg, Bengal

d) Maratha, Malabar, Mysore

18. The following are the factors which motivated the
British to Conquer Mysore. Identify the wrong factor.

a) It was a dominant power

b) Interrupted the trade of British in Malabar

c) They were a threat to the cotton trade

d) The friendly relations with the French

19. Who introduced the 'SubsidiaryAlliance'

a) Lord Dalhousie b) Lord Mechale

c) Robert Clive d) Lord Wellesley

20. The war in which the Dutch lost their power in India'?

a) Battle of Plassey

b) Battle of Kolechal

c) Battle of Buxar

d) Maratha war.

21. The sericulturists of Bengal were known as

a) The Santhals

b) The Kohlis

c) The Nagodas

d) The Kurichyas

22. The first railway line of Kerala.

a) Tirur to Beypore

b) Trivandrum to Kollam

c) Palakkad to Shornur

d) Ernakulam to Trissur

23. The peasant revolt burst out in Bengal known as :

a) Mappilla rebellion

b) Kurichya rebellion

c) Faraizi rebellion

d) Santhal rebellion

24. The Tribal group who helped Pazhassi Raja to fight
against the British?

a) The Bhils b) The Santhals

c) The Kols d) The Kurichyas

25. Who made 'Kundara Proclamation'?

a) Veluthampi Dalawa

b) Pazhassi Raja

c) Marthanda Varma

d) Paliathachan

26. The British called India's first war of Independence
as :

a) Mappila rebellion b) Faraizi rebellion

c) Sepoy mutiny d) Peasant's revolt

27. The last Mughal Emperor who was expelled to
Rangoon:

a) Ourangazeb b) Bahadur Shah II

c) Shajahan d) Nana Sahib

28. The following are the leaders and their places of
revolt. Find out the odd one :

a) Nana Sahib - Kanpur

b) Rani Lakshmi Bai - Jhansi

c) MoulaviAhmmadullah - Lucknow

d) Kunvar Singh - Arrah

29. According to Tagore, who laid the foundation stone
of Modern age in India?

a) Swami Vivekananda

b) Sree Ramakrishna Paramahamsa

c) Rajaram Mohan Roy

d) Swami Dayananda Saraswathi

30. The newspaper published by Rajaram Mohan Roy:
a) Common wheel b) Sampad Kaumudi

c) Ud bodhanam d) Gulamgiri

31. The British Governor General:

a) LordWilliamBentick b) Lord Dalhousie

c) Lord Wellesley d) Lord Curson

32. Identify the wrong pair:

a) Rajaram Mohan Roy - Brahma Samaj

b) Dayananda Saraswathi - Arya Samaj

c) Jyothirao Phule - Arya Mahila Sabha

d) Swami Vivekananda - Ramakrishna Mission

33. Who gave the call 'go back to vedas'

a) Swami Dayananda Saraswathi

b) Raja Rammohan Roy

c) Panditha Rama Bhai

d) Swami Vivekananda
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34. Who translated 'Bhagavad Gita' into English?

a) Sree Ramakrishna Paramahamsa

b) Sir Syed Ahammed Khan

c) Rajaram Mohan Roy

d) Annie Besant

35. Who started 'Shudhiprasthanam'(ip≤n{]ÿ m-\w):

a) Jyothi Rao Phule.

b) Swami Dayananda Saraswathi

c) Jawaharlal Nehru

d) Rabindranatha Tagore

36. Who is the social reformer who participated in
Chiccago universal religious conference in 1893:

a) Swami Dayananda Saraswathi

b) Sir Syed Ahammed Khan

c) Rajaram Mohan Roy

d) Swami Vivekanda

37. The writers instrumental the development of
Nationalism is given below. Find out the odd one:

a) Sathyajith Roy

b) Bankim Chandra Chatterjee

c) Rabindranatha Tagore

d) Mohammed Iqbal

38. Who suggested the name 'Indian National Congress':

a) Mahathma Gandhi

b) Dadabhai Naoroji

c) Subhash Chandra Bose

d) Rabindranatha Tagore

39. Names of extremist leaders are given below, find the
odd one:

a) Bal Gangadhar Thilak

b) Bipin Chandra Pal

c) Lala Lajpath Ray

d) Pheroz Shah Mehtha

40. Who is known as the 'grand old man of India'?

a) Mahatma Gandhi

b) Rabindranath Tagore

c) Jawaharlal Nehru

d) Dadabhai Naoroji

41. In 1905 Bengal was divided into West Bengal and
East Bengal. What is the present name of East Bengal?

a) Bangladesh b) Myanmar

c) China d) Nepal

42. Who wrote the Book 'Poverty and unBritish rule in
India'?

a) Jawarharlal Nehru

b) BalaGangadhar Thilak

c) Dadabhai Naoroji

d) Gopalakrishna Gokhale

43. The native place of Annie Besant, the founder of
'Home rule movement'

a) England b) Switzerland

c) Ireland d) Netherlands

44. In which session of the Indian National Congress
decided to give up the differences of opinion of the
extremists and moderates and joined together.

a) Surat split b) Lucknow pact

c) Calcutta session d) Bombay session

45. "We desire that the administration of India should
be further modernized and be made a part of it."
This is from the first meeting of Indian National
Congress who delivered this speech.

a) W. C. Banerjee b) A. O. Hume

c) Bankim Chandra Chatterjee

d) Mohammed Iqbal

46. The economic drain under the British rule is the root
cause of poverty in India - whose words are these?

a) Gopalakrishna Gokhale b) Ferozshah Mehtha

c) Gandhiji d) Dadabhai Naoroji
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1. c - Turkey.

2. b - Istanbul.

3. a - Religious ideology.

4. c - Greek and Latin.

5. b - Petrarch.

6. b - Michelangelo - The last supper.

7. a - Copernicus.

8. b - Steam engine - James Watt.

9. d - England.

10. b - Flying Shuttle.

11. a - The Portugese.

12. d - 1498.

13. a - Goa, Daman, Diu.

14. c - Kunjali Marakkar.

15. c - Amsterdam.

16. c - Battle of plassey.

17. a - Jhansi, Sathara, Nagpur.

18. c - They were a threat to the cotton trade.

19. d - Lord Wellesley.

20. b - Battle of Plassey.

21. c - The Nagodas.

22. a - Tirur to Beypore.

23. c - Faraizi Rebellious.

24. d - The Kurichyas.

25. a - Veluthampi Dalawa.

26. c - Sepoy mutiny.

27. b - Bahadur Shah II.

28. c - Moulavi Ahmmdullah - Lucknow.

29. c - Rajaram Mohan Roy.

30. b - Sampad Kaumudi.

31. a - Lord William Bentick.

32. c - Jyothirao Phule - Arya Mahila Sabha.

33. a - Swami Dayananda Saraswathi.

34. d - Annie Besant.

35. b - Dayananda Saraswathi.

36. d - Swami Vivekananda.

37. a - Sathyajit Ray.

38. b - Dada bhai Navroji.

39. d - Pherozshah Mehtha.

40. d - Dadabhai Navroji.

41. a - Bangladesh.

42. c - Dadabhai Navroji.

43. c - Ireland.

44. b - Lucknow pact.

45. a - W. C. Banerjee.

46. d - Dadabhai Navroji.
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1.HcpsNSn-bn¬ \n∂vA Xns‚khn-ti-j-X-Iƒ

D≈ \qdp-I-W -°n\vssXIƒ Dev]m-Zn-∏n-°p∂

G ‰hpw A \p-tbm-Py-ambam¿Kw G Xv?

a) _ÕnMv

b) SnjyqIƒ®¿

c) seb-dnMv

d) {Km̂ v‰nMv

2.hmg\\-bp-tºmƒ Nocbpw \\bpw F∂ ]g-

s© m√vG XvIrjncoXn-bp-ambn_‘-s∏-́-

XmW v?

a) CS-hnf

b) hnf-]-cybw

c) ]pX-bn-So¬

d) Ch-sbm-∂p-a√

3.]cn-ÿ nXnkulr-Z-amb D¬∏-∂-taXv?

a) πmÃnIv_°‰v

b) NW -®m°v

c) Sb¿

d) _ƒ_v

4.{lkz-Zr„n]cn-l-cn-°m-\mbnD]-tbm-Kn-°p∂

se≥kvG Xv?

a) tIm̈ tIhvse≥kv

b) tIm̈ shIvkvse≥kv

c) knen-≠-dn-°¬ se≥kv

d) •mkvjo‰v

5.{]Xn-_nw_ cq]o-I-c-W -Ø n\vklm-b-I-amb

{]Im-i-Ø ns‚ {]Xn-̀mkw G Xv?

a) hnk-cnX {]Xn-]-X\w

b) A ]-h¿Ø \w

c) {]Io¿W \w

d) {Ia-{]-Xn-]-X\w

6.G Xp-XcwZ¿∏-W -amW vhf-hp-I-fnepwIpØ -s\-

bp≈ tdmU ns‚ hi-ß -fnepw hbv°p-∂Xv?

a) tIm̈ tIhvZ¿∏W w

b) ka-XeZ¿∏W w

c) tIm̈ shIvkvZ¿∏W w

d) Chsb√mw

7.G Xvemb-\n-bmW vDdpºvISn-bpsS thZ\

A I‰m≥A \p-tbm-Py-am-bXv?

a) \mc-ß m-\ocv

b) tkm∏p-sh≈ w

c) tamcp-sh≈ w

d) X°mfn\ocv

8.B am-i-b-Ø n¬ D¬∏m-Zn-∏n-°p∂ B knUv?

a) ssl t{Um-t¢m-dnIvB knUv

b) ss\{SnIvB knUv

c) kƒ^yq-dnIvB knUv

d) A k-‰nIvB knUv

9.tkm∏v\n¿Ωm-W -Ø n\vD]-tbm-Kn-°p∂

B ¬°enXncn-®-dn-bp-I.

a) Im¬kyw ssl t{Um-IvsskUv

b) A tam-W nbw ssl t{Um-IvsskUv

c) A eq-an-\nbw ssl t{Um-IvsskUv

d) tkmU nbw ssl t{Um-IvsskUv

10.XmsgX∂n-cn-°p∂ emb-\n-I-fn¬ Nph∂ en‰va-

kn\v\ndwam‰w D≠ m-°-Ø hG sX√mw?

i) NpÆmºvsh≈ w ii)hn\m-Kncn

iii) D∏p-sh≈ w iv) tkm∏p-sh≈ w

v) ]© -kmcsh≈ w

a) (i) , (iv), (v)

b) (ii) , (iii), (iv)

c) (ii) , (iii), (v)

d) (iii) , (iv), (v)
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11.]b¿sNSn-bpsSthcp-I-fn¬ ImW p∂ _mIvSo-

cnb G Xv?

a) A kt‰m_mIv‰¿

b) ss\t{Sm_mIv‰¿

c) ssdtkm-_nbw

d) C.-tImfn_mIvSo-cnb

12.s]cn-kvtIm-∏n¬ Z¿∏-W -ß ƒ ]men-t°≠

tIm̈ A fhvF{X?

a) 30o

b) 45o

c) 60o

d) 90o

13.cmPphpwcm[bpwZ¿∏-W -ß ƒD]-tbm-Kn®v]co-

£ W w\S-Ø n-b-t∏mƒcmPp-hn\v{]Xn-_nw_w

ǹØ n-bn¬ ]Xn-∏n-°m≥ Ign-™ p.F∂m¬

cm[bv°v{]Xn-_nw_w ǹØ n-bn¬ ]Xn-∏n-°m≥

Ign-™ n-√.cmPpD]-tbm-Kn®pZ¿∏W w G Xv?

a) tIm̈ tIhvZ¿∏W w

b) tIm̈ shIvkvZ¿∏W w

c) ka-XeZ¿∏W w

d) Ch-sbm-∂p-a√

14.amXr-k-ky-Ø ns‚ imJ-I-fn¬ Xs∂ thcvapf-

∏n®vB m̀Kwth¿s]-SpØ nas‰mcpsNSn-bm°n

hf¿Ø p∂ coXnG Xv?

a) sImºvH ń-°¬

b) apIpfwH ń-°¬

c) h¿§k¶-cW w

d) ]Xn-h-bv°¬

15."PewD¬∏m-Zn-∏n-°p-∂Xv'F∂ A ¿∞ whcp∂

hmXIw G Xv?

a) HmIvkn-P≥

b) ssl {U-P≥

c) ss\{S-P≥

d) Im¿_¨ ssU HmIvsskUv

16.I≠ ¬sN-Sn-bpsS kwc-£ -W -Ø n\vt]cvtI´

ae-bmfn?

a) It√¬ s]m°p-S≥

b) kpµ¿em¬ _lp-KpW

c) hµ-\-inh

d) kpK-X-Ip-amcn

17.Xmsg-sIm-Sp-Ø -h-bn¬ G Xn-emW v{]Im-i-

Ø ns‚ hnk-cnX {]Xn-]-X\w \S-°p-∂-Xv.

a) Pew

b) hmbp

c) aÆv

d) an\p-k-ap≈ Xd

18.Nn{Xw \nco-£ n-°q.CuZ¿∏W w G XvXcw

Z¿∏-W -amW v.

a) ka-X-e-Z¿∏W w

b) tIm̈ tIhvZ¿∏W w

c) tIm̈ shIvkvZ¿∏W w

d) tIm̈ shIvkvse≥kv

19)PohmW phf-ß -fn¬ s]́ XvXmsg-]-d-bp-∂-h-

bn¬ G XmW v?

a) shÆodv

b) IS-e-∏n-Æm°v

c) A tkmf

d) bqdnb

20.ag-hn-√nseh¿Æ-ß -sf√mw IqSn-t®¿∂m¬

G Xv\ndw è n°pw?

a)Idp∏v

b) Nph∏v

c) hb-e‰v

d) sh≈





hkvXp

Z¿∏W w

{]Xn-_nw_w
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DØ -c-kq-NnI

1. b. Snjyq-Iƒ®¿

2. a. CS-hnf

3. b. NW -®m°v

4. a. tIm̈ tIhvse≥kv

5. d. {Ia{]Xn-]-X\w

6. c. tIm̈ shIvkvZ¿∏W w

7. b. tkm∏p-sh≈ w

8. a. ssl t{Um-t¢m-dnIvB knUv

9. d. tkmU nbw ssl t{Um-IvsskUv

10. c. [(ii) , (iii) , (v) ]

11. c. ssdtkm-_nbw

12. b. 45o

13. a. tIm̈ tIhvZ¿∏W w

14. d. ]Xn-h-bv°¬

15. b. ssl {U-P≥

16. a. It√≥ s]m°p-S≥

17. c. aÆv

18. b. tIm̈ tIhvZ¿∏W w

19. c. A tkmf

20. b. Nph∏v

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER

(PAPER - II) (PART - B)

A Snÿ m\imkv{Xw ˛sk‰v̨ I - MM

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
Reg. No: ER 7/2012
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USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER

(PAPER - I) (PART - A)
SOCIAL SCIENCE - SET - I - MM

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
Reg. No: ER 7/2012

1.at\m-l-c-ambhmkvXp-hn-ZybpsSDØ aamXr-I-

bmb lKnb tkm̂ n-b C∂vFhnsS ÿ nXn-

sN-øp∂p?

a) C‰en c) Xp¿°n

b) Cw•≠ v d) P¿Ω\n

2.Ing-°≥ tdmamkm{am-Py-Ø ns‚ Xe-ÿ m-\-am-

bn-cp∂ tIm̈ Ãm‚n-t\m-∏n-fns‚ Ct∏m-gsØ

t]cv?

a) ]mIn-ÿ m≥ c) A v̂Km-\n-ÿ m≥

b) CkvXmw-_pƒ d) aym≥am¿

3.\thm-∞ m-\-Ø ns‚ khn-ti-jX A √m-Ø XvG Xv?

a) am\-hn-IX

b) aX-]-c-ambB i-b-ß ƒ

c) A t\z-jW Xzc

d) {]mtZ-inI m̀j-I-fpsShf¿®

4.a[y-Im-e-L -́-Ø n¬ ]fi nX m̀j-I-fmbnIW -

°m-°-s∏-́n-cp-∂XvG sX√mw?

a) Cw•ojv̨ kv]m\njv

b) em‰n≥ ˛{Ko°v

c) kv]m\njv̨ {̂ © v

d) {̂ © v̨ Cw•ojv

5.""\thm-∞ m-\-Ø ns‚ ]nXmhv'' F∂-dn-b-s∏-Sp-

∂XvB cv?

a) enbm-\m¿tUmUmhn© n

b) s]{Sm¿°v

c) Zms¥

d) dmt̂ ¬

6.sX‰mb tPmU nIs≠ Ø nFgp-XpI?

a) s_m°m-®ntbm Z̨°m-a-d̈ IY-Iƒ

b) ssa°¬ B © tem˛A h-km-\sØ A Ø mgw

c) sk¿hms¥ ˛tU m̈ IznIvtkḿv

d) sZmW m-s‰t√m ˛Ḱ m-sa-eoØ

7."kucbqY kn≤m¥w' B hn-jv°-cn-®-Xmcv?

a) tIm∏¿\n°kv

b) Keo-entbmKeoen

c) Kṕ≥_¿Kv

d) am¿́n≥ eqY¿

8.icn-bmb tPmU nIs≠ Ø nFgp-XpI?

a) sSekvtIm∏v ˛tPm̈ sIbv

b) B hn-b{¥w ˛sPbnwkvhḿv

c) temt°m-tam-́ohv̨ sPbnwkvlm¿{Kohvkv

d) Kṕ≥_¿Kv ˛ v̂fbnwKvj ń¬

9.hyh-kmb hnπhw B cw-̀n-®-sX-hnsS?

a) C‰en

b) P¿Ω\n

c) {̂ m≥kv

d) Cw•≠ v

10.hkv{X \n¿ΩmW taJ-e-bn¬ D]-tbm-Kn-°p∂

b{¥w G Xv?

a) B hn-b{¥w c) temt°m-tam-́ohv

b) v̂fbnwKvj ń¬ d) A ®Snb{¥w

11.I®-h-S-Ø n-\mbnC¥y-bn-se-Ø nb B Zy

bqtdm-]y≥cmPyw G Xv?

a) t]m¿®p-Kokv c) {̂ © v

b) U®v d) Cw•ojv

12.t]m¿®p-Ko-kp-Im¿C¥y-bn-se-Ø nb h¿jw?

a) 1453 c) 1757

b) 1857 d) 1498

13.t]m¿®p-Ko-kp-Im-cpsS {][m\hmW n-Py-tI-{µ-

ß ƒ G sX√mw?

a) tKmh,Zma≥,Znbp

b) sIm®n,sIm√w

c) a{Zm-kv,I¬°Ø ,t_mws_

d) t]m≠ n-t®-cn,amln,Imc-°¬
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14.t]m¿®p-Ko-kp-Im¿s°-Xnscae-_m¿XocØ v

sNdpØ p\n¬∏p\S-Ø nbkmaq-Xn-cn-bpsS\mhn-

I-∏-S-bpsS Xe-h≥ B cm-bn-cp∂p?

a) Sn∏pkp¬Ø m≥ c) ]men-b-Ø -®≥

b) Ip™ menac-bv°m¿ d) ssl Z-cen

15.""tlm¿Ø qkvae-_m-dn-°kv'F∂ {KŸ w{]kn-

≤o-I-cn-®XvFhnsS \n∂mW v?

a) Nnen b) tIcf c) B wÃ¿Umw d) C‰en

16.C¥y-bn¬ {_ńojvB [y-]-Xy-Ø n\vA Sn-Ø -d-

bn-Sm≥klm-bn® bp≤w G Xv?

a) ssakq¿bp≤w c) Ipf-®¬ bp≤w

b) πmknbp≤w d) _Ivkm¿bp≤w

17.ZØ -h-Imi \ntcm-[\\nb-a-Ø n-eqsS{_ńo-jp-

Im¿Iog-S-°nbcmPy-ß ƒ G sX√mw?

a) Q m≥kn,kØ m-d,\mKv]q¿

b) ssl Z-cm-_m-Zv,X© m-hq¿,C≥tUm¿

c) ae-_m¿,Iq¿Kv,_wKmƒ

d) adm-Ø ,ae-_m¿,ssakq¿

18.Xmsg-]-d-bp∂ L S-I-ß -fn¬ ssakq-cns\Iog-S-

°m≥{_ńo-jp-Imsct{]cn-∏n-®-X-√mØ L SIw

Is≠ Ø nFgpXp?

a) ssakq¿Hcp{]_ei‡ n-bm-bn-cp-∂p.

b){_ńo-jp-Im-cpsS]cp-Ø n-I-®-h-S-Ø n\vXS w
krjvSn®p

c) ae-_m-dnse{_ńo-jp-Im-cpsS I®-h-S-Ø n\v
XS w t\cńp

d) {̂ © p-Im-cp-ambnSn∏p-kp¬Ø m-\p-≠ mb
kulrZw

19.C¥y-bn¬ ssk\nI klmb hyhÿ \S-∏n-

em-°nb{_ńojvDtZym-K-ÿ ≥ B cv?

a) U¬lukn{]̀ p

b) sa°msf{]̀ p

c) tdm_¿́vss¢hv

d) she n{]̀ p

20.C¥y-bn¬ U®p-Im-cpsS A [n-Imcw \„-s∏-Sp-

∂-Xn\vhgn-sbm-cp-°nb bp≤w G Xv?

a) πmknbp≤w

b) Ipf-®¬ bp≤w

c) _Ivkm¿bp≤w

d) admØ bp≤w

21._wKmfnse]́ p-\q¬ I¿j-I-cm-bn-cp∂ tKm{X-

hn-̀mKw G Xv?

a) km¥mƒ c) tImen-Iƒ

b) \tKm-U-Iƒ d) Ipdn-®y¿

22.tIc-f-Ø nseB ZysØ sdbn¬∏mX G Xv?

a) Xncq¿ ˛ t_∏q¿

b) Xncp-h-\-¥-]pcw ˛ sIm√w

c) ]me-°mSv ˛ sjm¿Æq¿

d) Fd-W m-Ipfw ˛ Xriq¿

23._wKm-fnseI¿jIIem-]-ß ƒG Xvt]cn¬

A dn-b-s∏-Sp∂p?

a) am∏nfIem-]-ß ƒ

b) Ipdn-®y¿Iem-]-ß ƒ

c) d̂mknIem-]-ß ƒ

d) km¥mƒ Iem-]-ß ƒ

24.{_ńo-jp-Im¿s°-Xn-sc-bp≈ t]mcm-́-Ø n¬

]g-»n-cm-Psbklm-bn®tKm{X-hn-̀mKwG Xv?

a) òep-Iƒ c) km¥mƒ

b) tImfp-Iƒ d) Ipdn-®y¿

25.{]kn-≤-ambIp≠dhnfw-_cw]pd-s∏-Sp-hn-®Xv

B cv?

a) thep-Ø ºnZfh

b) ]g»ncmP

c) am¿Ø mfi h¿Ω

d) ]men-b-Ø -®≥

26.C¥y-bpsSH∂mwkzmX-{¥y-k-a-c-Ø n\v{_ńo-

jp-Im¿\¬Inbt]cvF¥v?

a) am∏nfelf

b) d̂mknIem-]-ß ƒ

c) in]mbnelf

d) I¿jIIem]w

27.d¶q-W n-te°v\mSp-I-S-Ø -s∏́ A h-km-\sØ

apKƒ N{I-h¿Ø nB cv?

a) HudwKtk_v

b) _l-Zq¿jmII

c) jmP-lm≥

d) \m\mkmln_v

28.1857-̨se H∂mw C¥y≥ kzmX-{¥y-k-acw

\S∂ {]tZ-i-ß fpw ˛t\Xm-°fpw NphsS

\¬In-bn-cn-°p-∂p.A h-bn¬ sX‰mb tPmU n

Is≠-Ø pI?

a) \m\m-km-ln_v ˛ I¨]q¿

b) dmW ne£ van_mbn ˛Q m≥kn

c) auehnA l-Ω-Zp√ ˛eIv\u

d) I¨h¿knß v ˛ B c
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29.alm-IhnSmtKm-dns‚A ǹ-{]m-b-Ø n¬B [-\nI

C¥y≥bpK-Ø n\vXpS°wIpdn®al-Xvhy‡ n

B cv?

a) kzmanhnth-Im-\-µ≥

b) {iocm-a-IrjvW ]cal wk≥

c) cmPmdmw taml≥ tdmbv

d) kzmanZbm-\µkc-kzXn

30.kmaqly]cn-jvI-cW {]h¿Ø -\-ß ƒ°vi‡ n

]I-cm≥cmPmdmwtaml≥tdmbvB cw-̀n®]{Xw

FXv?

a) tImä ho¬

b) kºZvIuapZn

c) DZvt_m-[\w

d) Kpemw-Kncn

31.C¥y-bn¬ \nbaw aqew kXn\ntcm-[n®

{_ńojvKh¿W ¿P\-d¬ B cm-bn-cp∂p?

a) hneyw s_‚nIv{]̀ p

b) U¬ lukn{]̀ p

c) sh√…n{]̀ p

d) Igvk̈ {]̀ p

32.sX‰mb tPmU nsXc-s™ -Sp-°pI?

a) cmPmdmw taml≥ tdmbv̨ {_lvakamPw

b) kzmanZbm-\µkc-kzXn̨ B cy-k-amPw

c) tPymXndm]p̂ pse B̨ cy-a-lnfk̀

d) kzmanhnth-Im-\µ≥ c̨ma-IrjvW anj≥

33.""thZ-ß -fn-te°paS-ß pI'' F∂XvB cpsS

B lzm-\-amW v?

a) kzmanZbm-\µkc-kzXn

b) cmPmdmw taml≥ tdmbv

c) ]fi nX cam-_mbv

d) kzmanhnth-Im-\-µ≥

34.̀K-hXvKoX Cw•o-jn-te°vX¿PnasNbvX

kmaqly]cn-jvI¿Ø mhvB cv?

a) {iocm-a-IrjvW ]cal wk≥

b) k¿.kønZvA l-Ω-ZvJm≥

c) cmPmdmw taml≥ tdmbv

d) B \n_k‚v

35.aX-]-cn-h¿Ø \w XS-bp-∂-Xn-\p-th≠ n""ip≤n

{]ÿ m\w'' B cw-̀n® kmaq-l nI ]cn-

jvI¿Ø mhvB cv?

a) tPymXn-dmhp̂ pse

b) kzmanZbm-\µkc-kzXn

c) Ph-l¿em¬ s\lvdp

d) cho-{µ-\mY SmtKm¿

36.1893¬ A ta-cn-°-bnseNn°m-tKm-bn¬ \S∂

k¿∆aX ktΩ-f-\-Ø n¬ ]s¶-SpØ C¥y≥

kmaqly]cn-jvI¿Ø mhvB cv?

a) kzmanZbm-\µkc-kzXn

b) k¿kønZvA l-ΩZvJm≥

c) cmPmdmw taml≥ tdmbv

d) kzmanhnth-Im-\-µ≥

37.C¥y≥ tZio-b-X-bpsS hf¿®sbklm-bn®

kmln-Xy-Im-c-∑m-cn¬ s]Sm-Ø XvG Xv?

a) kXy-PnXvdmbv

b) _¶nw N{µ Nm‰¿Pn

c) cho-{µ-\mY SmtKm¿

d) apl-ΩZvCIv_m¬

38.C¥y≥ \mj-W ¬ tIm̈ {KkvF∂ A Jn-

te¥ykwL -S-\bv°vB t]cv\n¿t±-in®

t\XmhvB cv?

a) alm-flm-Km‘ n

b) ZmZm-_mbv\h-tdmbn

c) kp̀mjvN{µ-t_mkv

d) cho-{µ-\mY SmtKm¿

39.Xo{h-tZ-io-b-X-bpsS t\Xm-°-fn¬ s]Sm-Ø Xv

B cv?

a) _meKwKm-[cXneIv

b) _n]n≥ N{µ-]m¬

c) ememePv]-Xvdmbv

d) n̂tdmkvjmtaØ

40.C¥y-bpsShµy-h-tbm-[n-I≥F∂-dn-b-s∏-Sp∂

tZiob t\XmhvB cv?

a) alm-flm-Km‘ n

b) cho-{µ-\mY SmtKm¿

c) Ph-l¿em¬ s\lvdp

d) ZmZm-_mbv\h-tdmPn

41.1905¬{_ńo-jp-Im¿_wKm-fns\]›na_wKm-

sf-∂pw,Ing-°≥ _wKm-sf∂pw c≠ mbnhǹ-

Pn-®p.A Xn¬ Ing-°≥ _wKmƒ C∂vG Xp-

t]-cn-emW vA dn-b-s∏-Sp-∂Xv?

a) _w•m-tZiv c) ssN\

b) aym≥∑m¿ d) t\∏mƒ

42."Poverty and un British rule in India" F∂
]pkvXIwcNn-®XvB cv?

a) Ph-l¿em¿s\lvdp

b) _meKwKm-[cXneIv

c) ZmZm-_mbv\h-tdmPn
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d) Km]m-e-IrjvW tKmJse

43.tlmwdqƒ{]ÿ m-\-Ø ns‚ÿ m]-I-bmbB \n

_k‚ns‚ P∑-tZiw FhnsS?

a) Cw•≠ v

b)kzn‰vk¿e‚v

c) A b¿e≠ v

d) s\Y¿e‚v

44.kqdØ vktΩ-f-\-Ø n¬hgn-]n-cn-™ p-t]mbanX-

hm-Zn-I-fpw,Xo{h-tZ-iob hmZn-Ifpw H∂n®v

{]h¿Ø n-°m≥ Xocp-am-\n®ktΩ-f\w G Xv?

a) kqdØ v]nf¿∏v

b) eIv\uk‘n

c) I¬°Ø ktΩ-f\w

d) t_mws_ ktΩ-f\w

45.""C¥y-bnse c̀-W -kw-hn-[m\w Ipsd-°qSn]cn-

jvIr-X-am-I-W -sa∂pw\sΩbpw c̀-W -Ø n¬]¶m-

fn-I-fm-°-W -sa∂pw \mw B {K-l n-°p-∂p.''

C¥y≥\mj-W ¬ tIm̈ {K- ns‚B Zy-tbm-K-

Ø n¬ Cß s\ {]kw-Kn-®XvB cv?

a) W.C_m\¿Pn

b) F.-H.lyqw

c) _¶nw N{µ Nm‰¿Pn

d) apl-ΩZvCJv_m¬

46.""C¥y-bpsS kºØ vCw•-≠ n-te°v]e-X-c-

Ø n¬tNm¿Ø n-s°m≠ vt]mbn-cp-∂-XmW vC¥y-

bpsS Zmcn-{Zy-Ø n\pImcW w'' ˛CXm-cpsS

hm°p-I-fmW v?

a) tKm]m-e-IrjvW tKmJse

b) n̂tdmkvjmtaØ

c) Km‘ nPn

d) ZmZm-_mbv\h-tdmPn
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DØ -c-kq-NnI

1. Xp¿°n

2. DkvXmw-_pƒ

3. aX-]-c-amb B i-b-ß ƒ

4. em‰n≥ ˛{Ko°v

5. s]{Sm¿°v

6. ssa°¬ B © tem˛A h-km-\sØ

A Ø mgw

7. tIm∏¿\n°kv

8. B hn-b{¥w ˛sPbnwkvhḿv

9. Cw•≠ v

10. v̂fbnwKvj ń¬

11. t]m¿®p-Kokv

12. 1498

13. tKmh,Zma≥,Znbp

14. Ip™ menac-bv°m¿

15. B wÃ¿Umw

16. πmknbp≤w

17. Q m≥kn,kØ m-d,\mKv]q¿

18. {_ńo-jp-Im-cpsS]cp-Ø n-°-®-h-S-Ø n\v
XS wkr„n®p

19. sh√…n{]̀ p

20. Ipf-®¬ bp≤w

21. \tKm-U-Iƒ

22. Xncq¿˛t_∏q¿

23. d̂mknIem-]-ß ƒ

24. Ipdn-®y¿

25. thep-Ø ºnZfh

26. in]mbnelf

27. _l-Zq¿jm II

28. auehnA l-Ω-Zp√˛eIv\u

29. cmPmdmw taml≥ tdmbv

30. kºZvIuapZn

31. hn√yw s_‚nIv{]̀ p

32. tPymXndmhp̂ pse˛B cyalnfk̀

33. kzmanZbm-\µkc-kzXn

34. B \n_k‚v

35. Zbm-\µkc-kzXn

36. kzmanhnth-Im-\-µ≥

37. kXy-PnXvdmbv

38. ZmZm-_mbv\h-tdmPn

39. n̂tdmkvjmtaØ

40. ZmZm-_mbv\h-tdmPn

41. _w•m-tZiv

42. ZmZm-_mbv\h-tdmPn

43. A b¿e≠ v

44. eIv\uk‘n

45. W.C _m\¿Pn

46. ZmZm-_mbv\h-tdmPn
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1)

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - I) (PART - C)

MATHS

Nn{X-Ø n¬ BOF s‚

A f-sh{X ?

a) 350 b) 300 c) -550

d) -I≠p-]n-Sn-°m≥

Ign-bn√

A

C

F

B

D

E
O

35
0

2)

N n{X-Ø n¬PQhn\v
ew_-amW vRS

QOB bpsS A fhv

F{X?

a) 200 b) -I≠p-]n-Sn-°m≥Ign-bn√

c) -700 d)-160-0

3)

A

F

C

D

B

E

O

40
0

BODAOC 

BOF F{X?

Nn{X-Ø n¬ BOF s‚

A f-sh{X ?

a) 50 b) 70 c) -400

d) -Ch-sbm-∂p-a√

4)
M

P

N

O

Q

MN, PO F∂nh Q
bn¬ Jfi n-° p∂

t\¿tc-J-I-fmW v.Xmsg-

]-d-bp-∂-h-bn¬ sX‰mb

{]kvXm-h\G Xv?

5)

a) PNCAMD,  -̨_mly-k-l-tIm̈

b) CNQBMD, ˛_mly-k-l-tIm̈

c) PNDAMC,  ˛B ¥-c-k-l-tIm̈

d) QNCBMC,  ˛B ¥-c-k-l-tIm̈

6)

7) P

M

R

Q

N A B

S

PQ, RSF∂okam-¥-c-

h-c-IsfMN apdn-°p-

∂-XmW vNn{X-Ø n¬

ImW n-®n-́p-≈-Xv.
a) PQNMQO  b) NQOPQM 

c) 180PQNMQP 

d) PQN-180MQO 

A M

N
P

C

Q

B

AB, PQF∂o-k-am-¥c

hc-IsfCD F∂

tcJ M,N F∂ _nµp-

°-fn¬ apdn-®n-́p-≠v.

Xmsg]d-bp-∂-h-bn¬

icn-bmbtPmUn-b-√m-

Ø XvG Xv?

D

a) NXpcw b) ew_Iw

c)kmam-¥-coIw d) NXp¿̀pPw

Nn{X-Ø n¬ ABCD bv°v]d-bm-hp∂
G ‰hpwtbmPn®t]cv?

1

A

R S

B

Q

P

O

F

D

A B
E

C650

65
0

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
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Xmsg-]-d-bp-∂-adp-tIm̈ tPmUnG XmW v?

a) NAQNAP,  b) QAMNAP, 

c) NBSPAM,  d) RBNPAM, 

Xmsg-]-d-bp-∂-{]kvXm-h-\-I-fn¬ sXt‰Xv?

a) Hcp{XntIm-W -Ø ns‚ tIm̈ A f-hp-

IƒIq́n-bm¬ Ft∏mgpw1800Ińpw.

b) Hcpkmam-¥-cn-I-Ø ns‚A Sp-Ø -SpØ

c≠ vtImW p-Iƒ kam-\-tIm-W p-Iƒ

B bn-cn°pw

c) FXn¿tImW p-Iƒ Xp√y-am-bn-cn°pw

d) HcptPmUnkl-tIm-W p-I-fpsSXpI

180B bn-cn-°pw.

9) Nn{X-Ø n¬ tNmZy-Nn”w

C´ m̀KsØ tImW -fhv

F{X?

a) 105 b) 75

c) -2550 d) -130

M N

Q

O
P

10) MN, OPF∂nhkam-¥c

hc-I-fmW v.Nn{X-w \nco-

£ n®vicn-bmb tPmUn

Xnc-s™ -Sp-sØ -gp-Xp-I.

a) NMPMNO 

b) NOPMPO 

c) QOQN PM 

d) PONNMP 
11)

A

B
P C

Q

400

Nn{X-Ø n¬ AB, PQ F∂nhkam-¥-c-hc-Iƒ

40A  , C bpsSA f-sh{X?

a) 400 b) 500 c) 600 d)900

12) Xmsg]d-bp∂ hmIy-Ø ns‚_oP-K-W nX cq]w

Xnc-s™ -Sp-sØ -gp-XpI

""HcpkwJybpw A Xn¬ \n∂v5 Ipd®

kwJybpwXΩn¬ Iq́p-I''.

a) 5 xx b) 5 xx

c) xx 5 d) xx 5

13) HcpC≥kv{Sp-sa‚vt_mIvkn\pw t]\bv°pw

IqSn100cq]-bmW vhne.c≠ n-s‚bpwhne-I-fpsS

hyXymkw60cq].t]\-bpsShneF{X?

a)90cq] b) 25cq]

c) 60cq] d) 20cq]

14) ...........
3

1
215

3

1
315  
















xx

a)15 b) 30 c) 5 d)45

15) kvIqfn¬ \n∂vhnhn[ sKbnw C\-ß ƒ°mbn

Xnc-s™ -Sp-°-s∏-́-h¿xFÆwB W v.A Xn¬ y
FÆwIṕn-Iƒ p̂́vt_m-fnepw zFÆw{In°-
‰nepw pFÆwtlm°n-bnepw]cn-io-e\wt\Sp-
∂-h-cmW v._m°nIṕn-Iƒ thmfn-t_mƒ Ifn-

°m-cp-am-W v.

thmfn-t_mƒ Ifn-°m-cpsSFÆw Xmsg]d-bp-

∂-Xn¬ G XmW v?

a) x-y+z-p b) x-(y-z-p)

c) x-(y+z+p) d) x-y-(z+p)

16) c≠ pkwJy-I-fpsS XpIbpw hyXym-khpw

XΩn¬ Iq́n-b-t∏mƒ100Ińn.F¶n¬ Xmsg-]-d-

bp-∂-h-bn¬ icnG Xv?

a) HcpkwJy100Bbn-cn°pw

b)kwJyIs≠-Øm≥Ign-bn√

c) HcpkwJy50Bbn-cn°pw

d)kwJybYm-{Iaw50,20Bbn-cn-°pw.

17) 3

2

10

1
x3510x1  F∂kwJysbZimwicq]-Øn-

se-gp-Xn-bm¬èn-°p∂kwJy

a)150.300 b) 105.030

c)105.003 d)150.030

18) 153=3375B bm¬ (0.15)3F{X-bmW v?

a)0.3375 b) 3.375

c)0.03375 d) 0.003375

19) 512+512+512+512+512 = ?

a) 524 b) 1012 c) 2512 d) 513

8)

N

O

P

QM

50 55

?

0

2
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20) 315 s‚
3

1
m̀KwF{X ?

a) 314 b) 35 c) 115 d) 310

21) 108 x .................. = 10 4

a) 104 b) 102 c) 410

1
d) 210

1

22)

452

3

1
x

3

1




























eL p-I-cn-®m¬

3

1
s‚ IrXn?

a) 11 b) 40 c) 10 d) 14

23) 12cm\ofhpw 8cmhoXn-bp-ap≈ NXp-c-Ø ns‚ Hcp
aqe-bn¬\n∂pw6cm, 4cmhiß -fpsS(sN-dnbhi-
ß ƒ)Hcp{XntImW wapdn®pam‰n.tijn-°p∂ m̀K-

Ø ns‚ ]c-∏fhvF{X?

a) 96cm2 b) 48cm2 c) 72cm2 d) 84cm2

24)

NXpcwABCD bn¬ BC = 10 cm CD= 20cm

ADEΔ bptSbpw BCEΔ bptSbpw]c-∏-f-hp-I-

fpsSXpIF{X ?

a) 200 cm2 b) 150 cm2

c) 100 cm2 d) 50 cm2

25) A D

B C

8c
m

20cm

E F10cm

ABCD HcpNXp-c-amW vAE = FD EF= 10cm

BC = 20cm, AB = 8 cm

CDFΔ s‚ ]c∏vChF{X ?

a) 20 cm2 b) 30 cm2

c) 100 cm2 d) 16 cm2

P S

u

Q R

T

26)

PQRS HcpNXp-c-am-W v.QS te°p≈ ew_-ß -

fmW vPT bpw RU Dw. PQRS s‚ ]c-∏-fhv

160cm2B W v.PT=10 cmB sW -¶n¬ QSF{X ?

a) 20 cm b) 15 cm c) 8 cm d) 16 cm

27)

MNOP HcpNXp-c-am-W v.NPhnI¿Æhpw.NXpcw

SCQM s‚ ]c-∏-fhv12cm2B sW -¶n¬ NXpcw

ROTCbpsS]c-∏-fhvF{X?

a) 12 cm2 b) 6 cm2

c) 24 cm2 d) 18cm2

28) Xmsg]d-bp∂ kwJy-I-fn¬ ]q¿Æ-h¿§-a-√m

Ø XvG Xvv?

a) 4x1010 b) 25 x 1025

c) 36 x 1036 d) 49x1012

29) 10001s‚h¿§wXmsg-]-d-bp-∂-Xn¬ G XmW v?

a) 100020001 b) 100200001

c) 10002001 d) 1002001

30) Xmsg]d-bp∂ kwJy-I-fn¬ h¿§-ambnFgp-

Xm≥Ign-bmØ kwJyG Xv?

a) 1.96 b) 0.025

c) 0.0036 d) 12.25

31) Hcp]¥-en¬900Itk-c-IƒD≠ v.ChsbHcp

{]tXyIcoXn-bn¬ {Iao-I-cn-°p-tºmƒhcn-I-fp-

tSbpw \nc-I-fp-tSbpw FÆw Xp√y-am-Ipw.Hcp

hcn-bn-tebpwHcp\nc-bn-tebpwItk-c-Iƒam‰n-

bm¬ _m°nF{X Itk-c-bp-≠mIpw?

a) 840 b) 841

c) 842 d) 843

A E B

D C20cm

10cm

P
Q

M

S

N R O

TC

3

10 cm
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32) ka-N-XpcmIrXn-bn-ep≈ Hcp]qt¥m-́-Ø ns‚

]c-∏-fhv225 m2 B W v.]qt¥m-́-Ø ns‚Np‰-fhv

F{X ?

a) 15m b) 30m

c) 60m d) 45m

33) 2ao‰¿\ofhpw 3.2m2 ]c-∏-f-hpap≈ Hcptai

hncn-bn¬\n∂pwka-N-Xp-cm-Ir-Xn-bn¬]c-am-h[n

hep-∏-Ø n¬ XpW nsh́ n-sb-Sp-Ø p.sh́n-sb-

SpØ XpW n-bpsS]c-∏-fhvF{X ?

a) 3.0ao‰¿ b) 2.56m2

c) 2.25m2 d) 1.69m2

34) cmPp200In.aok© -cn-°m≥ 4aW n-°q-sd-Sp-

Ø p.CtX thK-X-bn¬kenw150In.aok© -cn-

°m≥F{X kabwFSp°pw?

a) 4ao‰¿ b) 3½aW n-°q¿

c) 3aW n-°q¿ d) 2½aW n-°q¿

35) iin45 In.ao/aW n:thK-X-bn¬ 180In.-ao-‰¿

Imdnepw 35 In.ao/aW nthK-X-bn¬ 175In.-ao-

‰¿_ nepwk© -cn-®mW ve£ y-ÿ m-\-sØ -Ø n-

bXv.B sIF{X kabwiinbm{X sNbvXp?

a) 8aW n°q¿ b) 9aW n°q¿

c) 10aW n°q¿ d) 11aW n°q¿

36) A \p210In.-ao-‰¿Imdn¬ k© -cn-°m≥ 3aW n-

°q¿30an\n-s‰-Sp-Ø p.icm-icnthKwF{X?

a) 60 km/aW n b) 50km/aW n

c) 40km/aW n- d) 45 km/aW n-

37) 43km/aW n-°q-¿thK-X-bn¬ 2½ aW n-°q¿

Po∏nepw30km/aW n-°q¿thK-X-bn¬ 1½aW n-

°q¿_ nepw k© -cn-®mW veX hón¬ aS-

ß n-sb-Ø n-bXv.eX k© -cn®ZqcwF{X ?

a) 150.5 km b) 152.5 km

c) 162.5km d) 170.5 km

38) _m_phpw kplr-Ø p-°fpw Xncp-h-\-¥-]q-c-

tØ °vImdn¬ t]mIp-I-bm-W v.B ZysØ 100

In.ao-‰¿aW n-°q-dn¬ 40.-In.-ao-‰¿/hour thK-X-
bnepw XpS¿∂p≈ 150 km 60km/hour thK-X-
bn-ep-amW vIm¿t]mb-Xv.icm-icnthKX F{X?

a) 55 km/hr b) 52 km/hr

c) 100 km/hr d) 50 km/hr

39) cmhnse10aW n°vXr∏q-W n-Ø p-d-bn¬ \n∂pw

Imdn¬ 40 km/aW n°q¿icm-icnthK-X-bn¬
k© cn-®-t∏mƒ Xr»q¿1aW n°vFØ n.12.30

\vXriq¿FØ m≥(A tXka-bØ vbm{X-Xn-cn-

®m¬)G XpthK-X-bn¬ t]mIW w?

a) 45 km/hr b) 48 km/hr

c) 50 km/hr d) 52 km/hr

40) Xmsg]d-bp∂ A f-hp-I-fn¬\n∂v\n›nX hep-

∏-ap≈ {XntImW whc-bv°m≥km[n-°m-Ø Xv

G Xv?

a) Hcp-h-ihpw2tImW p-Ifpw

b) c≠vhihpwA h-bv°n-S-bnsetImW pw

c) aq∂phi-ß ƒ d)aq∂ptImW p-Iƒ

41) Xmsg]d-bp∂ {XntImW ß fn¬ á-{Xn-tImW w

G Xv?

a) 00 35B50A 

b) 00 45,45  QP

c) 00 05N60M 

d) 00 05Y30X 

42) Xmsg]d-bp∂hbn¬{XntIm-W -Ø ns‚hi-ß -

fpsSA f-hp-I-fm-Im≥km[y-X-bn-√m-Ø XvG Xv?

a) AB = 8cm BC = 4cm AC = 4cm

b) PQ = 5cm QR = 4cm PR = 3cm

c) XY = 10cm YZ = 8cm XZ = 6cm

d) MN = 7cm NO = 5cm OM = 3cm

43) {XntIm-W -Ø ns‚ A f-hp-I-fm-Im≥ km[y-X-bn-

√m-Ø XvXmsg]d-bp-∂-h-bn¬ G Xv?

a) 000 30C100B50A 

b) 000 1C98B90A 

c) 000 08C50B50A 

d) 000 75C50B54A 

44) HcpNXp-c-Ø ns‚hoXnbpw\ofhpwXΩn-ep≈

A wi-_‘ w1:5 B W v.\ofw 7 ½ cm B sW -

¶n¬ hoXnF{X-bm-bn-cn°pw?

a) 1 cm b) 2 ½ cm

c) 5cm d) 1 ½ cm

4
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45) A ºnfntZiob]Xm-I-bp-≠m-°m≥t]∏¿apdn-

°p-I-bm-W v.30 cm\of-ap≈ ]Xm-I-bmW vD≠m-
°m≥ Dt±-in-°p-∂-Xv.hoXnF{X thW w?

a) 18 cm b) 10 cm

c) 12 cm d) 20 cm

46) cmPp-hns‚ ]dºv2G °-dm-W v.CXns‚

m̀Kw I∏IrjnsNøp-∂p. m̀Kw d∫dpw

IrjnsNøp-∂p.I∏bpwd∫dpwG XvA wi-_-

‘-Ø n-emW vIrjn-sN-øp-∂Xv

a) 4:3 b) 3:4 c) 12:8 d) 8:12

1
31

4

47) Hcp]© m-b-Ø nsekv{XoI-fp-sSbpw]pcp-j-∑m-

cp-tSbpwFÆ-Ø nseA wi-_‘ w12:11B W v.
]pcp-j-∑m¿22000B sW -¶n¬ B sIP\-kwJy

F{X ?

a) 36000 b) 40000

c) 46000 d) 50000

48) 400{Kmw m̀c-ap≈ tI°vcmPp-hn\pwcm[°pw

3:5 F∂ A wi-_-‘-Ø n¬ m̀Kn®p\¬In.

cm[bv°vIńn-bXvF{X {Kmw ?

a) 150 gm b) 200 gm

c) 250 gm d) 300 gm

49) HcpNXp-c-Ø ns‚\ofhpwhoXnbpwXΩn-ep≈

A wi-_‘ w4:3B W v.42 cm Np‰fhp≈ NXp-

c-Ø ns‚ ]c-∏-fhvF{X ?

a) 84 N.--skao b) 42 N.--skao

c) 98 N.--skao d) 108 N.--skao

50) cmPpIn.-{Km-an\v50cq]hoXw10Intem{Kmw

amºgwhmß nIntem-{Km-an\v60cq]hoXwhn‰p.

c≠p-Intemamß No™ p-t]mbn.em̀w/\jvSw

F{X ?

a) em̀w100cq] b)em̀w20cq]

c) em̀w 50cq] d)\jvSw20cq]

51) chntXß -sbm-∂n\v20cq]hoXw1000tXß

hmß n.tXß -sbm-∂n\v25cq]hoXwhn‰p.IS-

Ø p-Iq-en-bpƒs∏sS1500cq] sNe-hm-bn.em̀-

i-X-am\wF{X ?

a) 20% b) 17.5 %

c) 25 % d) 22.5%

52) HcpS̈ Ipcp-ap-fIv190000cq]bv°vhn‰-t∏mƒ

5%\jvS-ap-≠m-bn.hmß n-b-hneF{X ?

a) 180000cq] b) 2e£ wcq]

c) 195000-cq] d)185000cq]

53) 1000cq]hne-bp≈ Hcpkm[-\-Ø ns‚hneIS-

°m-c≥ 25% h¿≤n-∏n-®-tijw 20% UnkvIu-

≠ n\phn¬°p-∂p.hn‰-hneF{X ?

a) 1100 b)1200

c) 900 d)1000

54) HcpI®-h-S-°m-c≥4000cq]bv°vhmß nbÃu

am¿°‰vhne-bpsS 50% U nkvIu-≠ n-emW v

hn¬°p-∂-Xv.25%em̀w Iń-W -sa-¶n¬ ]c-ky-

hneF{X-bm-IW w?

a) 8000cq] b) 5000cq]

c) 9000cq] d)10000cq]

55) cmap_m¶n¬ \n∂v10000cq]IS-sa-Sp-Ø p.2

h¿j-w Ign-™ -t∏mƒ ]en-i-bpƒs∏sS 12000

cq]-bmbnISw._m¶ns‚hm¿jnI]eniF{X-

bmW v?

a) 8% b)9% c)10% d)12%

56) HcpkwJy-bpsS H‰-bpsS ÿ m\-sØ -b°w x
Dw ]Ø ns‚ ÿ m\-sØ -b°w y Dw B bm¬
kwJyXmsg]d-bp-∂-h-bn¬ G XmW v?

a) 10x+10y b) 10x+y c) 10y+x d) x+y

57) Xmsg]d-bp∂ {]kvXm-h-\-I-fn¬ sXt‰Xv?

a) XpS¿®-bmbc≠vFÆ¬kwJy-I-fpsSXpI

Ft∏mgpwH‰kwJy-bm-bn-cn°pw

b) c≠vCć kwJy-Iƒ Iq́n-bm¬ Ińp-∂Xv

Cć kwJy-bm-bn-cn°pw

c) c≠ vH‰-kw-Jy-Iƒ Iq́n-bm¬ H‰kwJy-

bmW vIńp-I.

d) XpS¿®-bmb aq∂vFÆ¬ kwJy-I-fpsS

XpIaq∂ns‚ KpW n-X-am-bn-cn-°pw.

58) Hcpc≠-°-kw-Jy-bpsS H‰-bpsS ÿ m\-sØ -

b°w P bpw]Ø ns‚ ÿ m\-sØ -b°w q Dw
B W v.A °-ß ƒ ]c-kv]cw ÿ m\w amdnb

tijwc≠ pkwJy-IfpwIq́n-bm¬ Xmsg]d-

bp-∂-h-bn¬ G Xvèn°pw?

a) 10p+10q b) 11p+10q

c) 11(p+q) d) 10p+11q

5
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59) Hcpaq∂° kwJy-bpsS H‰-bp-tSbpw ]Ø n-

t‚bpw \qdn-t‚bpw ÿ m\-Ø p≈ A °-ß ƒ

bYm-{Iaw x, y, z B W v.kJy-bn¬ \n∂vA °-
ß -fpsSXpIIpd®m¬ èn-°p-∂Xv.

a) 99z+9y b) 99x +y c) y+99z d) 99y+z

60) ABC Hcpá-{Xn-tIm-W w.ACI¿Æam-W v.ABhi-

ambnhc-bv°p∂ ka-N-Xp-c-Ø ns‚ ]c-∏-fhv

64cm2. AChi-ambnhc-°p∂ ka-N-Xp-c-Ø ns‚

]c-∏-fhv100 cm2.BC bpsS\ofwF{X?

a)Is≠-Ø m≥Ign-bn√ b) 36cm

c) 10 cm d) 6 cm

61) ka-N-XpcwABCDbpsS]c-∏-fhv200cm2 B W v

hnI¿Æw AC hi-am-bn-h-cp∂ ka-N-Xpcw hc-

®m¬ ]c-∏-fhvF{X ?

a) 100 cm2 b) 200cm2

c) 300 cm2 d) 400 cm
2

D C

A E F B

62) Nn{X-Ø n¬CDEFka-N-
Xp-c-am-W v.AE,ABbpsS

m̀Kw.IqSmsX

AE=BF. ADEΔ bpsS

]c-∏-≈hv30N.skao

B bm¬ ABCD bpsS

]c-∏-fhvF{X?

1
3

a) 120 cm2 b) 90cm2

c) 60 cm2 d) 100 cm2

63) Xmsg]d-bp-∂-h-bn¬ á-{Xn-tIm-W -Ø ns‚hi-

ß ƒ B Im≥km≤y-X-bn-√m-Ø XvG Xv?

a) 3, 4, 5 b) 6, 8,10

c) 7, 24, 25 d) 20, 21, 22

A D

B C

64)

ka-N-XpcwABCDbpsS]c-∏-fhv200cm2B W v

BD b#psS\ofw

a) 20cm b) 10 cm

c) 100 cm d) 15 cm

65) 10s‚ KpW n-X-ß fpw5 s‚ KpW n-X-ß fpwIq́n-

bm¬ Ińp∂ kwJy-bpsS _oP-K-W nX cq]w

Xmsg]d-bp-∂-h-bn¬ G XmW v?

a) 10n+m b) 10(m+n)

c) 5(2m+n) d) 5 (m+n)

66) Hcp]co-£ -bn¬ B sI20tNmZy-ß ƒ.icn-bp-

Ø -c-Ø n\v1kvtIm¿ è n-°pw.sX‰n\v½

kvtIm¿Ipd-bpw.DÆn°v12FÆwicn-bm-bn.

6FÆwsX‰n-t∏m-bn.2tNmZy-ß ƒ°vDØ -c-sa-

gp-Xn-bn-√.DÆn°vèn-°p∂ kvtIm¿F{X ?

a) a b) 8 c) 9 d) 10

67) -80C Xm]-\n-e-bp≈ HcphkvXp60ChscNqSm-
°n-bm¬ Xm]-h¿≤-\hvF{X U n{Kn

a) 00c b) 80c c) -140c d) 140c

68) Xmsg]d-bp-∂XveL q-I-cn-°pI

a) 0 b) -1 c) 1 d) -5

69) eL q-I-cn-°pI

a) -1 b) -9 c) 1 d) 25

70) HcpsI ń-S-Ø ns‚Xd\nc-∏n\papI-fn¬8\ne-
Ifpw Xmsg4\ne-I-fp-≠v.A Xn¬ ÿ m]n-®n-

ṕ≈ en̂ v‰n¬ Xd-\n-c-∏n¬\n∂vIb-dnbHcmƒ

6_ -́W nepwas‰-bmƒ 3̨_ -́W nepwA a¿Ø n.

c≠ vt]scbpw Cd-°n-b-tijw Xd-\n-c-∏n¬

en̂ v‰v\n∂p.Hcp\ne]n∂n-Sm≥ 3ao‰¿

thW w.F{X ao‰¿en̂ v‰vk© -cn®p?

a) 9ao b) 18ao c) 36ao d) 54ao

71) XmsgsImSp-Ø n-cn-°p∂ ss] Nn{X-Ø n¬

\¬In-bn-cn-°p∂ hnh-c-ß ƒ{i≤n-°p-I.

Hcp¢m nseB sI-bp≈ 36Iṕn-I-fn¬ 40%

\pw60%CS-bn¬ am¿°vt\Sn-b-h¿F{X?

1
5

1
5

1
5

1
5

1
5

= ?

a) 10 b) 9 c) 12 d) 15

6

12 + 8
1
6

- 5
1
6

60% am¿°n\papI-

fn¬ hmß n-b-h¿

4
0

%
t o

6
0

%

1400

60%-80%
am¿°v

1000
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72) IpSpw-_-s®-e-hn-\-ß -fpsS hrØ -Nn{Xw Xmsg
sImSp-Ø n-cn-°p-∂p.

IpSpw-_-Ø ns‚ amk-h-cp-am\w 27000cq]-bm-

sW -¶n¬ amkkºmZywF{X?

a) 2000cq] b) 4000cq]

c) 6000cq] d) 8000cq]

73) cmPs‚ ]d-ºn¬ ]IpXǹ mKwd∫-dmW v.1/6

m̀KwhoSn\pam‰nh®n-́p-≠v.1/4̀ mKØ v]®-

°-dn-Iƒ \Sp-∂p._m°n-bp≈ m̀KØ vHcp

7

a‰p-≈h
800

£̀ W w
1100

500

hnZym-̀ymkw
400

hkv{Xw

kºmZyw

Ipf-ap-≠v.CXns‚ ss]Nn{Xwhc-°p-tºmƒ

Ipf-Ø ns‚ m̀Kw tcJ-s∏-Sp-Ø m≥ G {X

U n{Knhc-°-W w?

a) 600 b) 300 c) 900 d) 1000

74) X_m¶n¬100cq]°vHcpcq]-bmW vamk-]-
eni Y_m¶n¬ 12%hm¿jnI ]en-i-bm-W v.
c≠v]en-ibpw XΩn-ep≈ hyXymkw F{X

iX-am\w?

a) 0% b) 1% c) 2% d) 4%

75) Hcp\n›nX tPmen-bp≠v1/4 m̀Kw km_p
HcpZnhkw sIm≠ vXo¿° pw.A tX

tPmenbpsS1/3 m̀K-amW v._m_pHcpZnhkw

sIm≠ vXo¿°p-I.300cq]-bmW vtPmen]Ip-

Xn-bm-°n-bm¬ èn-°p-I.km_p-hn\pw_m_p-

hn\pw HcpZnhkw èn-°p∂ Iqen-bpsS

A wi-_‘ wF{X?

a) 2:3 b) 3:4 c) 4:3 d) 3:2
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1.(d) 2.(c) 3.(b) 4. (d) 5. (d) 6.(c) 7.(c) 8.(b) 9.(c)

10.(c) 11. (b) 12.(c) 13.(d) 14.(a) 15.(c) 16.(c) 17.(c) 18.(d)

19(d) 20. (a) 21.(c) 22.(d) 23.(d) 24.(c) 25.(a) 26.(d) 27.(a)

28.(b) 29.(a) 30(b) 31(b) 32.(c) 33(b) 34(c) 35.(b) 36.(a)

37.(b) 38.(d) 39.(b) 40.(d) 41.(b) 42.(a) 43.(d) 44.(d) 45.(d)

46.(a) 47.(a) 48.(b) 49.(d) 50.(d) 51.(b) 52.(b) 53.(d) 54.(d)

55.(c) 56.(c) 57.(c) 58.(c) 59.(a) 60.(d) 61.(d) 62.(a) 63.(d)

64.(a) 65.(c) 66.( c ) 67.( d ) 68.( b ) 69.( b ) 70.( d ) 71.( c ) 72.( c )

73.( b ) 74.( a ) 75.( b )

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTION PAPER

(PAPER - I) (PART - C)

MATHS - ANSWER KEY

8

Sot®gvkv¢∫vtIme-t©cnFd-Wm-Ipfw
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1) Xmsg]d-bp∂ sNSn-I-fn¬ImbnI{]P-\\whgn

ssXIƒ D≠ m-Ip-∂-Xn\vDZm-l-cW w

a) sh≠ b) a[p-c-°n-gß v

c) -]b¿ d) -aØ ≥

2) ssewKnI{]Xyp-ev]m-Z\whgnssXs®-Sn-IƒD≠m-

°p-∂-Xn\vDZm-l-cW wXmsg]d-bp-∂-h-bn¬\n∂v

Xnc-s™ -Sp-°p-I.

a) ac-®o\n b) sh≈ cn

c) a[p-c-°n-gß v d) -Iq¿°

3) ]Xn-h-bv°-ep-ambn_‘-s∏´icn-b-√mØ

{]kvXm-h\G Xv?

a) Cß -s\-bp-≠ m-Ip∂ ssXIƒ°vB bq¿

ssZ¿Lyw Xmc-X-tay\Ipd-hm-bn-cn-°pw.

b) ChthK-Ø n¬ ]q°p-Ibpw Imbv°p-Ibpw

sNøpw.

c) Chbv°vIqSp-X¬ ]cn-N-cW w th≠.

d) tcmK-{]-Xn-tcm[ i‡ nIqSp-X-em-bn-cn-°pw.

4) {Km̂ v‰nw-Kp-ambn_‘-s∏́ G Xm\pw {]kvXm-

h\IƒNphsSsImSp-°p-∂p.A h-bn¬ sXt‰Xv?

a) {Km̂ v‰nwKn\pth≠ nXnc-s™ -Sp-°p∂ thtcm-

Sp-Iq-Snb sNSnsbkb¨ F∂p-]-d-bp-∂p.

b) H ń-°p∂ Iºns\kb¨ F∂p-]-d-bp-∂p.

c) amhn≥ssXI-fn¬km[m-cW sNøm-dp≈ coXn-

bmW v{Km̂ v‰nwKv

d) {Km̂ v‰nw-Kn\pXnc-s™ -Sp-°p∂ thtcm-Sp-

IqSnb sNSn-bmW vtÃm°v.

5) HtcsNSn-bn¬Xs∂ ]e\nd-Ø n-ep≈ ]q°ƒ

D≠ m-Ip-∂-Xn\vA \p-h¿Ø n-°m-hp∂ Dev]m-Z\

coXnXmsg]d-bp-∂-h-bn¬ G XmW v?

a) ssewKnI{]Xyp-ev]m-Z\w

b) ]Xn-h-bv°¬

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - II) (PART - B)

A Sn-ÿ m-\-imkv{Xw

c) apIpfwH ń-°¬

d) sImºvH ń-°¬ ({Km-̂v‰nw-Kv)

6) Xmsg]d-bp-∂-h-bn¬Iq́-Ø n¬ s]Sm-Ø XvG Xv?

a) A ∂-]q¿Æ

b) A \p-{Kl

c) {lkz

d) ]hn{X

7) N{µe£ ,N{µ-i-¶c,e£ -Kw-K˛

Ch-bpsS s]mXp-hmb {]tXy-IX

a) Chk¶-c-bn\ws\√n-\-ß -fm-W v.

b) Ch\mS≥ sXß n-\-ß -fm-W v.

c) Chk¶-c-bn\w]b¿s®Sn-I-fmW v.

d) Chk¶-c-bn\w sXß n≥ ssXI-fm-W v.

8) d∫¿dnk¿®vC≥Ãn-‰yq-́ns‚ B ÿ m\wFhn-

sS-bmW v?

a) Imk¿tKmUv

b) tImgn-t°m-Sv.

c) Xncp-h-\-¥-]pcw

d) tIḿbw

9) tIcfIm¿jnIk¿∆-I-em-im-e-bpsSB ÿ m\w?

a) sIm®n

b) aÆpØ n

c) {ioImcyw

d) Imk¿tKmUv

10)Irjn-̀-h-\p-I-fpsS{]h¿Ø \ta¬t\ḿwXmsg

]d-bp-∂-h-bn¬ B ¿°v?

a) Pn√m]© m-bØ v

b) tI{µ-k¿°m¿

c) tªm°v]© m-bØ v

d) {Kma]© m-bØ v

A [ymbw1aÆn¬ s]m∂p-hn-f-bn°mw

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
Reg.No: ER 7/2012
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11) hnf-]-cybw(Crop rotation) sIm≠ vDt±-in-°p-∂Xv

a) XpS¿®-bmbnHtcIrjnXs∂ Hcn-SØ vsNøp-

∂-Xv.

b) HtckabwH∂n-tesdhnf-IƒHtcÿ eØ p

IrjnsNøp-∂-Xv.

c) HcpIrjn°ptijw A tX IrjnXs∂

B h¿Ø n-°msX as‰mcphnfIrjnsNøp-

∂Xv.

d) HcpIrjn-°p-tijw A h-in-jvS-ß ƒ B

ÿ eØ pXs∂ \nt£ -]n-°p-∂-Xv.

12) hnf]cy-b-Ø ns‚e£ ywXmsg]d-bp-∂-h-bn¬

F¥mW v?

a) aÆns‚ ê-]pjvSn\ne-\n¿Ø pI

b) hnfhv]c-am-h-[n-bm-°pI

c) IoS-_m-[sb sNdp-°pI

d) q̀an-bpsSD]-tbmKw]c-am-h[nbm°p-I.

13) Nne-bn\w sNSn-I-fpsS thcn¬ hkn-°p∂ Nne

_mIvSo-cn-b-Iƒ°vA ¥-co£ ss\{S-Ps\hen-

s®-SpØ vss\t{S-‰m°nam‰m≥Ign-hp-≠v.A Ø cw

Ign-hp≈ _mIvSo-cnb Xmsg]d-bp-∂-h-bn¬

G XmW v?

a) A k-t‰m-_m-IvS¿

b) ssdtkm-_nbw

c) km¬sam-W √

d) C -̨tImfn

14){]Ir-Xn-bpsS kz̀m-hnI coXn-I-tfm-Sn-W -ß nb

IrjncoXn{]mh¿Ø n-I-am-°p-Ibpw{]N-cn-∏n-

°p-Ibpw sNbvX temI{]i-kvX-\mbIrjn

hnZ-Kv[≥a\-t\m-_p-̂p-°pt-hm° G XpcmPy-

°m-c-\mW v?

a) C¥y

b) B {̂ n°

c) P∏m≥

d) {_ko¬

15) Xmsg-]-d-bp-∂-h-bn¬{Kq∏n¬ s]Sm-Ø XvG Xv?

a) ]pI-bn-e-°-jmbw

b) t_m¿tUm-an-{inXw

c) ths∏Æ Faƒj≥

d) Im¥mcnapfIvIjmbw
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1) {]Im-i-Ø ns‚ {]Xn-̂-e-\-hp-ambn_‘-s∏́ v

Xmsg-sIm-Sp-Ø n-cn-°p∂ {]kvXm-h-\-I-fn¬

sXt‰Xv?

a) IÆm-Sn-bn¬ {]Imiw{]Xn-]-Xn-°p-∂Xv{Ia-

{]-Xn-]-X-\-am-W v.

b) ]X-\-tIm̈ 40Un{Kn-bm-Ip-tºmƒ{]Xn-]-X\

tIm̈ 50U n{Kn-bm-bn-cn-°pw.

c) -an\p-k-a-√mØ {]X-e-Ø n¬ {]Imiw{]Xn-]-

Xn-°p-∂Xvhnk-cnX {]Xn-]X\am-bn-cn-°pw.

d) -]X-\-tImW pw {]Xn-]-X\ tImW pw Xp√y-am-

bn-cn-°pw.

2) ka-XeZ¿∏W w cq]-s∏-Sp-Ø p∂ {]Xn-_nw-_-

Ø ns‚ khn-ti-j-X-b-√mØ vG Xv?

a) hkvXp-hn-s‚bpw {]Xn-_nw-_-Ø n-s‚bpw

hep∏w H∂p-X-s∂-bm-bn-cn-°pw.

b) {]Xn-_nw-_-Ø n\v]m¿iznI hn]-cybwkẁ -

hn-°pw.

c) hkvXphpwZ¿∏-W hpwXΩn-ep≈ Zqcwh¿≤n-

∏n®m¬Z¿∏-W hpw{]Xn-_nw-_hpwXΩn-ep≈

A Iewh¿≤n-°pw.

d) -{]Xn-_nw-_-Ø ns‚hep∏whkvXp-hn-t\-°mƒ

IqSp-X-em-bn-cn-°pw.

3) hml-\-ß -fn¬,]n∂n¬\n∂phcp∂ hml-\-ß ƒ

ImW p-∂-Xn\vD]-tbm-Kn-°p-∂XvXmsg]d-bp-∂-

Xn¬ G XmW v?

a) tIm̈ tIhvZ¿∏W w

b) tIm̈ shIvkvZ¿∏W w

c) kX-aeZ¿∏W w

d) Nn√v•mkv

4) s]cn-kvtIm-∏n¬ D]-tbm-Kn-°p-∂XvXmsg]d-bp-

∂-h-bn¬ G XmW v?

a) tIm̈ shIvkvZ¿∏W w

b) tIm̈ tIhvZ¿∏W w

c) sπbv≥ •mkv

d) ka-XeZ¿∏W w

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - II) (PART - B)

A Sn-ÿ m-\-imkv{Xw

5) Xmsg]d-bp-∂-h-bn¬ {]Im-i-Ø ns‚ A ]h¿

Ø \waqewkẁ -hn-°p-∂XvG Xv?

a) Hcp]m{X-Ø nsesh≈-Ø n¬ \ΩpsS{]Xn-

_nw_wImW p-∂Xv.

b) HcptIm̈ shIvkvZ¿∏-W -Ø n¬ {]Xn-

_nw_wD≠ m-Ip-∂-Xv.

c) Hcp_o°-dnse sh≈-Ø n¬ Hcpkvt{Sm

XmgvØ n-h-®m¬apdn-™ -Xp-t]mseImW p-∂Xv

d) tIm̈ tIhvZ¿∏-W -Ø n¬ {]Xn-_nw_w

D≠ m-Ip-∂-Xv.

6) Xmsg]d-bp-∂-D]Ic-W -ß -fn¬ tIm̈ shIvkv

se≥kvD]-tbm-Kn-°p-∂XvG Xn¬ ?

a) ssat{Im-kvtIm∏v

b) s]cn-kvtIm∏v

c) {lkz-Zr-jvSn-°p≈ IÆS

d) Imen-tUm-kvtIm∏v

7) {]ImiwL S-I-h¿Æ-ß -fmbnamdp∂ {]Xn-̀m-k-

am-W t√m{]Io¿Æ\w.{]Io¿Æ\wkẁ -hn-°p-

∂XvXmsg]d-bp-∂-h-bn¬ F¥p-Im-cW w

sIm≠ mW v?

a) {]Xn-]-X\w

b) A ]-h¿Ø \w

c) {]nk-Ø ns‚ {]tXyIB IrXn

d) Pe-I-W nI

8) tIm̈ tIhvse≥kns\kw_-‘n®icn-bmb

{]kvXm-h\G Xv?

a) IS∂pt]mIp∂ {]Im-i-c-ivan-Isf]c-kv]cw

A Sp-∏n-°p-∂p.

b) IS-∂p-t]m-Ip∂ {]Imicivan-Isf]c-kv]cw

A I-‰p-∂p.

c) {]Io¿Æ\w D≠ m-°p-∂p.

d) {]Imi civan-Isf{]Xn-̂-en-∏n-°p-∂p.

A [ymbw 2{]Imi hnkva-b-ß ƒ

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
Reg.No: ER 7/2012
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1) sNº-cØ nt]∏¿Nne{Zmh-I-ß -fn¬ ap°n-b-

t∏mƒD≠mb\ndwam‰wNphsSsImSp-Ø n-cn-

°p-∂p.

tamcv N̨ph∏v

hn\m-Kncn N̨ph∏v

tkm∏p-em-bn\n ˛am‰-an√

sh≈ w ˛am‰-an√

Xmsg]d-bp∂ \nK-a-\-ß -fn¬ icn-tbXv?

a) tamcv,hn\m-KncnF∂nhB knUvkz̀m-h-

ap-≈-h-bm-W v.

b) tkm∏vemb-\n,sh≈ w F∂nh£ mc-kz-

m̀hap≈-h-bm-W v.

c) -sh≈ w\yq{S¬kz̀m-h-ap-≈-Xm-sW ∂v]co-

£ -W -Ø n¬ \n∂vsXfn-bp-∂p.

d) -tamcv,hn\m-KncnF∂nh£ mc-kz-̀m-h-ap-≈-

h-bm-W v.

2) Xmsg]d-bp-∂-h-bn¬{Kq∏n¬s]-Sm-Ø XvG Xv?

a) tamcv

b) NpÆm-ºp-sh≈ w

c) hn\m-Kncn

d) -\mc-ß m-sh≈ w

3) XmsgImW p∂ Nn{Xw \nco-£ n-°pI._eq-

W n¬ \nd-bp∂ hmXIw G Xv?

a) Hm-Ivkn-P≥

b) ss\{S-P≥

c) Im¿_¨ ssU Hm-IvsskUv

d) ssl{U-P≥

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - II) (PART - B)

A Sn-ÿ m-\-imkv{Xw

A [ymbw 3B kn-Up-Ifpw B ¬°-en-Ifpw

4) ssl{UP≥ hmXIwI≠ p-]n-Sn-®XvXmsg]d-

bp-∂-h-cn¬ B cmW v?

a) emthm-bvkn-b¿

b) tPmk̂ v{]oÃen

c) eqbn]mÃ¿

d) sl‚nImh≥Unjv

5) A eqan-\nb]m{X-Ø n¬ tamcpIdnkq£ n-°p-

∂Xv\√-X√ F∂p]d-bp-∂-Xns‚ ImcW w

Xmsg]dbp-∂-h-bn¬ G XmW v?

a) Idn°vcpNn-hy-Xymkwhcpw

b) ]m{X-Ø n\vId-]n-Sn°pw

c) tamcv£ mckz̀m-h-ap-≈-XmbXp-sIm≠ v

cmk-{]-h¿Ø \w \S-°pw.

d) tamcvB knUvkz̀m-h-ap-≈-XmbXp-sIm≠ v

]m{X-hp-ambncmk-{]-h¿Ø \w \S-°pw.

6) aṕ-tØ m-Sv,I°,am¿_nƒF∂n-h-bpsSs]mXp-

hmb {]tXy-IX

kn¶v

t\¿∏n® sslt{Umt¢m-dn°v
B knUv

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
Reg.No: ER 7/2012
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a) aq∂nepwtkmUnbwIm¿∫-tW ‰vA S-ß n-

bn-cn-°p-∂p.

b) aq∂nepw Im¬jyw Im¿∫-tW ‰vA S-ß n-

bn-cn-°p∂p

c) aq∂nepw s]mXp-L -SIw Im¬jyw Hm-

Ivssk-UmW v

d) B kn-Up-ambn{]h¿Ø n-®m¬ ssl{U-P≥

D≠ m-Ip-∂p.

7) B kn-Up-I-fpsS{]tXy-I-X-b-√m-Ø XvXmsg]d-

bp-∂-h-bn¬ G XmW v?

a) teml-hp-ambn {]h¿Ø n-° p-tºmƒ

ssl{U-P≥ D≠m-Ip∂p

b) Nph∏pen‰va-kns\\oe-bm-°p∂p

c) ]pfn-cp-Nn-bmW v

d) Im¿∫-tW -‰p-ambn{]h¿Ø n-°p-tºmƒ

Im¿∫¨ ssU Hm-Ivssk-Uns\kzX-{¥-

am-°p-∂p.

8) Xmsg]d-bp∂ tPmUn-I-fn¬ sXt‰Xv?

a) Ddpºv t̨̂ m¿anIvB knUv

b) hn\m-Kncn Ą k-‰nIvB knUv

c) hmf≥]pfn̨ emIvSnIvB knUv

d) \mc-ß -\ocv̨kn{SnIvB knUv

9) Xmsg]d-bp∂hbn¬ Nph∏pen‰va-kns\\oe-

bm-°mØ XvG Xpemb\n?

a) NpÆm-ºp-sh≈ w

b) A tam-W nbw sslt{Um-IvsskUv

c) hn\m-Kncn

d) tkmUnbw sslt{UmIv-sskUvemb\n

10) Xmsg]d-bp∂hbn¬B ¬°-ensbkw_-‘n®v

icn-b-√m-Ø XvG Xv?

a) Imc-cp-Nn-bp-≈ Xv

b) hgp-h-g-p∏p-≈ Xv

c) Nph-∏p-en-‰va-kns\\oe-bm-°p∂p

d) \oeen‰va-kns\Nph-∏m-°p-∂p.

11) \n¿∆o-co-I-cW Ø ns‚ ê-ambnD≠ m-Ip-∂Xv

Xmsg]d-bp-∂-h-bn¬ G XmW v?

a) ssl{U-P≥

b) Im¿∫¨ ssU Hm-IvsskUv

c) ehW w

d) Hm-Ivkn-P≥

12) HcpaÆp-km-ºnƒ ]cn-tim-[n-®-t∏mƒ pH 5.5
B W vèn-®Xv.Xmsg]d-bp-∂-h-bn¬ F¥p

\n¿t±-i-amW vI¿j-I¿°v\¬Im≥Ign-bpI?

a) aÆn¬ D∏p-tN¿°W w

b) ssPhhfw IqSp-X-embntN¿°W w

c) IpΩmbw tN¿°W w

d) H∂pw sNtø-≠-Xn-√.

13) Xmsg]d-bp∂hbn¬ G XptPmUn-bnsehkvXp-

°ƒtNcp-tºm-gmW vNph∏p\ndwD≠m-Ip-∂Xv?

a) a™ ƒ,tkm∏vemb\n

b) a™ ƒ,hn\m-Kncn

c) n̂t\mƒ v̂Xm-eo≥,\mc-ß -m\ocv

d) NpÆm-ºp-sh-≈ w,aossX¬ Hm-d© v
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1) kky-ß ƒ{]Im-i-kw-t«-j-W -Ø ns‚ m̀K-ambn

]pd-Ø p-hn-Sp∂ hmXIw Xmsg]d-bp-∂-h-bn¬

G XmW v?

a) Hm-Ivkn-P≥

b) Pe-_mjv]w

c) -ssl{U-P≥

d) -Im¿∫¨ ssU Hm-IvsskUv

2) Xmsg]d-bp-∂-h-bn¬ A ¿≤-]-cmZw G Xv?

a) tamtW m-t{Sm∏

b) CØ nƒs®Sn

c) Nµ\w

d) -sh≠

3) {]mW n-Isf]nSn-°p∂ Cc-]n-Sn-b-∑m-cmbkky-

ß -fn¬ s]́ -XmW vk̈ Uyq-sN-Sn,]n®¿sNSn

XpS-ß n-b-h.CØ cw sNSn-Iƒ CuIgnhvt\Sn-

bXvXmsg]d-bp-∂-h-bn¬ F¥n-\mW v?

a) Ch-bn¬ {]Im-i-kw-t«-j-W -Ø n-eqsS

B lmc\n¿ΩmW w\S-°p--∂n-√.

b) kqcy-{]-Im-i-Ø n-e√CusNSn-Iƒhf-cp-∂Xv

c) {][m\t]mj-I-ambss\{S-P≥èn-°p-∂-Xn\p

th≠ n

d) s]ḿm-ky-Ø ns‚ èyX Dd-∏p-h-cp-Ø m≥

4) kkyß ƒ {]Im-i-kw-t«-j-W -Ø n\vD]-tbm-Kn-

°p∂ hmXIw G Xv?

a) Hm-Ivkn-P≥

b) ss\{S-P≥

c) Im¿∫¨ ssU Hm-IvsskUv

d) ssl{U-P≥

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - II) (PART - B)

A Sn-ÿ m-\-imkv{Xw

A [ymbw4A ∂-]-Y-Ø n-eqsS

5) ]√ns‚C\m-a¬{Zhn-∏n-°p-∂XvXmsg]d-bp-∂-

h-bn¬ G XmW v?

a) emIvSnIvB knUv

b) £̀ -W m-h-in-jvS-ß ƒ

c) _mIvSo-cnb

d) ]© -kmc

6) {]mb-]q¿Ø n-bmb Hcmƒ°vF{X N¿∆-W Iw

D≠ mIpw ?

a) 8

b) 6

c) 12

d) 10

7) B lmcwISn-®p-Io-dm≥klm-bn-°p∂ ]√p-Iƒ

G XmW v?

a) N¿∆-W Iw

b) Dfn-∏√v

c) tImº√v

d) A {K-N¿∆-W Iw

8) Xmsg]dbp-∂-h-bn¬Zl\hyh-ÿ -bnseA h-

km\A h-bhw G Xv?

a) h≥Ip-S¬

b) aem-ibw

c) sNdp-Ip-S¬

d) B am-ibw

9) Xmsg]d-bp-∂-h-bn¬ c‡ -Ø n¬ FØ mØ

L SIw G XmW v?

a) Hm-Ivkn-P≥

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
Reg.No: ER 7/2012



Xøm-dm-°n-bXv̨dntkmgvkvSow
Sot®gvkv¢∫vtIme-t©cn̨ 9446762687 7

b) Im¿∫¨ ssU Hm-IvsskUv

c) bqdnb

d) ss\{S-P≥

10)aq{X-Ø n¬ D≠ m-Im≥ ]mSn-√m-Ø XvXmsg]d-

bp-∂-h-bn¬ G XmW v?

a) bqdnb

b) eh-W -ß ƒ

c) c‡ w

d) Pew

11) Xmsg]d-bp-∂-h-bn¬hnk¿÷-\m-h-bhwA √m-

Ø Xv

a) Xz°v

b) hr°

c) ae-Zzmcw

d) sNhn

12) A ¥-co-£ -Ø n¬ Hm-Ivkn-Ps‚ A fhvÿ nc-

ambn\n¬°p-∂-Xns‚ ImcW w

a) izk\w

b) {]Im-i-kw-t«-jW w

c) Pohn-IƒIpd-bp-∂-Xp-sIm≠ v

d) kutcm¿÷w
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1) Xmsg]d-bp-∂-h-bn¬ HcpsshZypX sk¿°o-

ńs‚ L S-I-ß -fn¬ s]Sm-Ø XvG Xv?

a) sshZypXn{]h-ln-°p∂ Iºn

b) sshZypX t{kmXkv

c) sshZypXnD]-tbm-Kn-°p∂ D]-I-cW w

d) kzn®v

2)

X∂n-cn-°p∂ Nn{X-Ø n¬ _ƒ_vIØ p-∂n√

A Xns‚ ImcW w

a) _ƒ_v̂ yqkm-b-XmW v

b) _m‰dnNm¿÷n-√m-Ø Xv

c) Iºn-bpsSA ]mIw

d) -_m‰dn_‘ n-∏n-®Xvicn-bmbcoXn-bn-e-√.

3) Xmsg]d-bp-∂-h-bn¬ sshZypX Nme-I-a-√m-Ø Xv

G Xv?

a) sNºv

b) A ep-an-\nbw

c) πmÃn°v

d) Ccpºv

4) sshZypXn{]hm-l-hp-ambn_‘-s∏́ vXmsg

sImSp-Ø n-cn-°p∂ Nn”w F¥ns\ kqNn-∏n-

°p∂p?

a) _m‰dn b)kzn®v

c) ŷqkv d) sk¬

5) Xmsg]d-bp-∂-h-bn¬ sshZypX Im¥wD]-tbm-

K-s∏-Sp-Ø mØ D]-I-cW w G Xv?

a) m̂≥

b) _ƒ_v

c) Ce-Iv{Sn-Iv_¬

d) tamt́ m¿

6) sshZypXnDev]m-Zn-∏n-°p∂ D]-I-cW wXmsg]d-

bp-∂-h-bn¬ G XmW v?

a) P\-td-‰¿

b) tamt́ m¿

c) S¿ss_≥

d) {Sm≥kvt̂ m¿a¿

7) Xmsg]d-bp-∂-h-bn¬ Du¿÷ kwc-£ -W -Ø n\v

A \p-Iq-e-amb{]h¿Ø \w A √m-Ø XvG Xv?

a) \£ {X Nn”-ß ƒ IqSp-X-ep≈ D]-I-c-W -

ß ƒ D]-tbm-Kn-°p-I.

b) thm¿t́Pvh¿≤n-∏n-°m≥ {Sm≥kvt̂ m¿a¿

ÿ m]n-°pI

c) d{̂ n-Pn-td-‰¿]q¿Æ-k-abw{]h¿Ø n-∏n-°pI

d) thmƒt́ PvIpd-hp-≈ -t∏mƒ tamt́ m¿

{]h¿Ø n-∏n-°m-Xn-cn-°pI

8) sshZypXnkpc-£ -bp-ambn_‘-an-√mØ kwhn-

[m\w Xmsg]d-bp-∂-h-bn¬ G XmW v?

a) ŷqkv

b) {Xn]n≥π§v

c) Fw.-kn._n

d) {Sm≥kvt̂ m¿a¿

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS
(PAPER -II) (PART -B)

A [ymbw 5-sshZypXn{]h-ln-°p-tºmƒ

++

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
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1) 4aÆvkmºn-fp-Iƒ ]cn-tim-[n-®-t∏mƒ A h-

bpsSssPhmw-i-Ø ns‚ A fhvXmsg]d-bp∂

A f-hn-em-sW -∂vIs≠-Ø n.

kmºnƒ 1̨4.8% kmºnƒ 2 2̨.1%

kmºnƒ 3˛1.2% kmºnƒ 4̨ 5.0%

Ch-bn¬ Pem-Kn-cW tijnG ‰hpwIqSp-X-ep-

≈ XvG Xpkmºn-fn-\mW v?

a.kmºnƒ1,b.kmºnƒ 2̨,c.kmºnƒ 3̨,

d.kmºnƒ ˛4

2) ssPhamen-\y-ß ƒ kwkvI-cn-°p-∂-Xp-ambn

_‘-s∏́ v{Kma-k-̀-bn¬ Db¿∂ph∂ \n¿t±-

i-ß ƒ Xmsg]d-bp-∂p.

1) ssPhamen\ykwkvI-cW Ø n-\mbnHcp

kwkvI-cW tI{µw]© m-bØ vXpS-ß p-I.

2) ssPhamen-\y-ß ƒ IØ n®pIf-bp-∂-Xn-

\mbnC≥kn-\-td-‰¿hm¿Up-Iƒ tXmdpw

ÿ m]n-°p-I.

3) Hmtcmhónepw ssPhamen-\y-kw-kvI-c-W -

Ø n\vItºmÃvkwhn-[m\w D≠ m-°p-∂-

Xn\vklbw\¬Ip-I.

4) -ssPhamen\yw IØ n®vsshZyp-Xn-bp-≠m-

°p∂ πm‚vÿ m]n-°p-I.

ta¬∏-d-™ -h-bn¬ B Zyap≥K-W \ \¬tI≠

\n¿t±iw G Xv?

a) 1 b) 2 c) 3 d) 4

3) aÆp-ambn_‘-s∏́ Nne {]kvXm-h-\-Iƒ

NphsS sImSp-°p-∂p.

a) aÆn¬ [mXp-°ƒ,Pew,ssPhhkvXp-

°ƒ,hmbpF∂nhA S-ß n-bn-cn-°p∂p.

b) ssPhmwiw 5% D≈ aÆmW vIrjn°v

G ‰hpw\√-Xv.

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - II) (PART - B)

A Sn-ÿ m-\-imkv{Xw

A [ymbw 6\n¿Ω-e-amb {]Ir-Xn-°mbn

c) ssPhmwiwIqSp-X-ep≈ aÆn¬Pem-Kn-cW

tijnIpd-hm-bn-cn-°pw.

d) ta¬a-Æns\ A t]-£ n®vA Sn-a-Æn¬

ssPhmwiw Ipd-hm-W v.

CXn¬ Hcp{]kvXm-h\sX‰mW v.FXm-W Xv?

1) a 2) b 3) c 4) d

4) cmk IoS-\m-in\nIfp-ambn_‘-s∏́ Nne

{]kvXm-h-\-I-fmW vNphsS\¬In-bn-́p-≈ Xv.

a) cmkIoS-\m-in-\n-Iƒhnfhvkwc-£ n-°p∂p

b) A hkq£ v-a-Po-hn-Iƒ°vlm\n-I-c-amW v

c) aÆn-csb\in-∏n-°p∂p

d) hnfhv\in-∏n-°p∂p

1) F√m{]kvXm-h-\-Ifpwicn-bmW v

2) F√m{]kvXm-h-\Ifpw sX‰mW v

3) a, b, c{]kvXm-h-\-Iƒicn-bmW v

4) b, c, d{]kvXm-h-\-Iƒicn-bmW v

5) NneIpSn-sh≈ kmºn-fp-I-fpsS PHaqeyw]cn-

tim-[-n-®-t∏mƒèn® êwXmsgsImSp-°p-∂p.

kmºnƒ 1̨6.7 kmºnƒ 2̨6.0

kmºnƒ 3̨ 7.9 kmºnƒ 4̨7.2

Xmsg]dbp-∂-h-bn¬icn-b-√mØ \nK-a\wG Xv?

a) kmºnƒ 1,4F∂nham{X-amW vIpSn-sh-

≈ambnD]-tbm-Kn-°m≥ Ign-bp-∂Xv

b) kmºnƒ 4am{X-amW vIpSn-°m≥ tbmKy-am-

bXv

c) F√mkmºn-fp-IfpwIpSn-sh-≈-ambnD]-tbm-

Kn-°mw.

d) pHaqeyw7A √mØ Xn\m¬ Hcpkmºnfpw
IpSn-°m≥ D]-tbm-Kn-®p-Iq-S.

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
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6) Xmsg]d-bp∂ tcmK-ß -fn¬ C -̨tImfn_mIvSo-

cnbaqew D≠ m-Ip-∂XvG Xv?

a) a™ -∏nØ w

b) Ub-dnb

c) ssSt̂ mbvUv

d) hn√≥Npa

7) Peip≤o-I-c-W -Ø n\vD]-tbm-Kn-°mØ hkvXp

Xmsg]d-bp-∂-h-bn¬ G XmW v?

a) t¢mdn≥

b) Icn

c) B ew

d) tkmUnbw t¢mssdUv

8) InW -dp-Iƒ A W p-hn-ap-‡ -am-°p-∂-Xn-\mbn

ªo®nwKv]uU¿D]-tbm-Kn-°p∂p.ªo®nwKv

]uU-dnseG XvhkvXp-hmW vA W p-°sf\in-

∏n-°p-∂Xv?

a) Im¬jyw Hm-IvsskUv

b) NpÆmºv

c) t¢mdn≥

d) B ew

9) A ¥-co-£ -hm-bp-hn¬ Im¿∫¨ s sU

Hm-IvsskUvF{X iX-am-\-amW v?

a) 20.9%

b) 0.04%

c) 1.0%

d) 3%

10) A ¥-co-£ -Ø n¬ ss\{SnIvHm-IvsskUvD≠ m-

Ip-∂-Xns‚ t{kmX vXmsg]d-bp-∂-h-bn¬

G XmW v?

a) ag

b) I¬°cnIØ n-°p-∂Xv

c) aÆn¬\n∂v

d) hml-\-ß -fn¬\n∂v

11) c‡-Ø n\vHm-Ivkn-Ps\B Kn-cW wsNøm-\p≈

tijn-Ip-d-bv°p∂ hnj-hm-XIw G XmW v?

a) t¢mdn≥

b) Im¿∫¨ tamtW m-IvsskUv

c) kƒ ¿̂ssU Hm-IvsskUv

d) ss\{SnIvHm-IvsskUv

12) A ¥-co-£ -Ø n¬ Im¿∫¨ ssU Hm-Ivssk-

Uns‚ A fhvIpd-bv°p∂ L SIw G Xv?

a) sshZypX hml-\-ß ƒ

b) h\-h-XvI-cW w

c) {]Ir-Xn-hm-XIw D]-tbm-Kn-°pI

d) hnd-Ip-]-tbmKw
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1) A ¥-co-£ -a¿±w A f-°m-\p-]-tbm-Kn-°p∂

_mtcm-ao-‰¿I≠ p-]n-Sn®imkv{X-⁄ ≥

a) Keo-entbm

b) B ¿°-an-Uokv

c) m̂csU

d) tSmdnsk√n

2) {Zmh-I-ß ƒHcp]m{X-Ø n¬\n∂vas‰m-∂n-te°v

Ipg-en-eqsSssIam-dp-∂-Xn\vssk̂ ¨ D]-tbm-

Kn-°mw.

CXns‚ {]h¿Ø \w Xmsg]d-bp-∂-h-bn¬

F¥ns\B {i-bn-®mW v?

a) {Zmh-I-a¿±w

b) hmbp-a¿±w

c) {ZmhI km{µX

d) -Xm]-\ne

3) Xmsg]d-bp-∂-h-bn¬ _¿tW mfnXXz-Ø ns‚

hni-Zo-I-cW w G XmW v?

a) hmbpthK-Ø n¬Nen-°p-tºmƒa¿±wIqSp-∂p.

b) hmbpF√mZni-bnepwa¿±w{]tbm-Kn-°p∂p

c) hmbpthK-Ø n¬ Nen-°p-tºmƒa¿±wIpd-

bp-∂p.

d) hmbp{]hmlw thK-Ø n-em-Ip-tºmƒ Xm]-

\neIpd-bp-∂p.

4) q̀an-bpsS D]-cn-X-e-Ø n¬ 5cm hymk-ap≈

ho¿∏n®_eq-W n\v1In.-ao-‰¿Db-c-Ø n¬ D≠ m-

Ip∂ am‰w.

a) hymkwIqSp∂p

b) hymkwIpd-bp∂p

c) hyXym-k-an√

d) _eq̈ s]ḿp∂p

5) XmsgsImSp-Ø n-cn-°p∂ Nn{X-ß fn¬hmbpIpan-

f-Iƒ\nco-£ n®vicn-bmbNn{Xo-I-cW wG sX∂v

]d-bpI

a) b) c) d)

6) XmsgImW p∂ Nn{X-ß -fn¬ icn-tbXv?

a) b) c) d)

7) Xmsg]d-bp-∂-h-bn¬_¿tW mfnXXzwD]-tbm-

Kn-°mØ kµ¿̀w G XmW v?

a) hnam\w]d-°p-∂-Xv.

b) tdm°-‰ns‚ k© mcw

c) Imdp-I-fpsSFbvtdm-ssU-\m-anIvL S\

d) P‰v]ºp-Iƒ{]h¿Ø n-°p-∂-Xv.

A [ymbw 7a¿±w {Zmh-I-Ø nepw hmX-I-Ø nepw

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS
(PAPER -II) (PART -B)

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
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1) D—zm-k-hm-bp-hn-sebpw\nizm-k-hm-bp-hn-sebpw

L SIß fn¬ am‰-an-√m-Ø XvXmsg-]-d-bp-∂-h-

bn¬ G XvhmX-I-Ø n\v?

a) Hm-Ivkn-P≥ b) ss\{S-P≥

c) Im¿∫¨ ssU Hm-IvsskUv

d) Pe-_mjv]w

2) izmktImi-ß -fpsS kt¶m-N-hn-Imkw km[y-

am-°p-∂-Xn¬ {][m\]¶p-h-ln-°p-∂XvXmsg

]d-bp∂hbn¬ G XmW v?

a) B am-ibw b)\mkm-Zzmcw

c) izmk-\mfw d)Ub{̂ w

3) sXfn™ NpÆm-ºp-sh-≈-Ø n-te°vHcpSyq_n-

eqsS Du-Xn-bm¬ ]m¬\n-d-am-Ip-∂XvG Xp

]Zm¿∞ w D≠ m-Ip-∂-Xp-aq-e-amW v?

a) Im¿∫¨ ssU-Hm-IvsskUv

b) Im¬jyw sslt{Um-IvsskUv

c) Hm-Ivkn-P≥

d) Im¬jywIm¿∫-tW ‰v

4) Xmsg]d-bp-∂-h-bn¬ izmk-tIm-i-ap≈ Pohn

G XmW v?

a) a’yw b)jUv]-Z-ß ƒ

c) Xhf d)A ao_

5) kky-ß -fnseizmk-\m-h-bhw G XmW v?

a) Ce b) sXmen

c) apIpfw d)B kyc{‘ ß ƒ

6) Xmsg]d-bp∂ {]kvXm-h-\-I-fn¬ H∂vsX‰mW .v

G Xm-W Xv?

a) kky-ß ƒ -izk-\-k-a-bØ vIm¿∫¨ ssU

Hm-IvsskUvhen-s®-Sp-°p∂p

b) P¥-p°ƒ izk-\-Ø n\vHm-Ivkn-P≥ D]-tbm-

Kn-°p∂p

c) \n-izm-k-hm-bp-hn¬ 4% Im¿∫¨ ssU

Hm-IvsskUvD≠ v.

d) kky-ß ƒ {]Im-i-kw-t«-j-W -Ø ns‚ m̀K-

ambnHm-Ivkn-P≥]pd-Ø p-hn-Sp-∂p.

7) B lmc]Zm¿∞ -ß -fn¬ \n∂vDu¿÷w kzX-

{¥-am-°p-∂XvXmsg]d-bp-∂-h-bn¬ G XmW v?

a) Hm-Ivkn-P≥

b) Im¿∫¨ Utbm-IvsskUv

c) c‡ w

d) izmk-tIm-i-ß ƒ

8) c‡ -Ø n\vNph-∏p-\ndw \¬Ip∂ lotam-t•m-

_ns‚ Dev]m-Z-\-Ø n¬ {][m\]¶p-h-ln-°p∂

aqeIwXmsg-]-d-bp-∂-h-bn¬ G XmW v?

a) amwK-\okv b) sNºv

c) tkmU nbw d)Ccpºv

9) c‡-Ø nseL S-I-ß -fn¬s]-Sm-Ø XvG Xv?

a) tπ‰ve-‰p-Iƒ b)a÷

c) πmkva c) Nph∂ c‡ m-W p-°ƒ

10) c‡ -]cy-b\ hyh-ÿ -bpsS m̀K-a-√m-Ø Xv

G Xv?

a) [a-\n-Iƒ b)knc-Iƒ

c) lrZbw d)izmk-tImiw

A [ymbw 8{]mW -hm-bphpw Poh-c-‡ hpw

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS
(PAPER -II) (PART -B)
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1) Nme\w aqe-ap≈ Xm]-t{]-j-W -Ø n¬ kẁ -hn-

°p-∂Xv..

a) X∑m-{X-Iƒ A Xn-thKw Nen-°p∂p.

b) X∑m-{X-Iƒ°vÿ m\am‰wkẁ -hn-°p-∂p.

c) X∑m-{X-Iƒ Xm]w kzoI-cn®vsXḿ-SpØ

X∑m-{X-Iƒ°vssIam-dp∂p.

d) X∑m-{X-Iƒ Xm]w Dev]m-Zn-∏n-°p∂p.

2) Nme-\-hp-ambn_‘-s∏́ vXmsgsImSp-Ø n-́p≈

{]kvXm-h-\-I-fn¬ sXt‰Xv?

a) F√mkpNm-e-I-ß fpw HtcA f-hn-emW v

Xm]w t{]jW w sNøp-∂-Xv.

b) teml-ß ƒ s]mXpshkqNm-e-I-ß -fmW v

c) F√mteml-ß fpw HtcA f-hn-e√ Xm]w

t{]£ W w sNøp-∂-Xv.

d) -IpNm-e-I-ß ƒ t\cnb tXmXn¬ Xm]w

t{]jW w sNøp∂p.

3) kwh-l-\-hp-ambn_‘-s∏́ Nne{]kvXm-h-\-Iƒ

NphsS sImSp-°p-∂p.

i) hmX-I-ß -fnepw {Zmh-I-ß -fnepw Xm]w

t{]jW wsNø-s∏-Sp-∂Xvkwh-l\waqe-am-

W v.

ii) X∑m-{X-I-fpsS ÿ m\-am‰w aptJ-\-bmW v

ChnsS Xm]-t{]-jW w \S-°p-∂-Xv.

iii) kwh-l-\-Ø n¬ NqSp-]n-Sn-°p∂ X∑m-{X-Iƒ

apI-fn-te°vDb-cp-∂p.

iv) kqcy-\n¬ \n∂vXm]w \ap°vèn-°p-∂Xv

kwh-l\whgn-bm-W v.

a) \mev{]kvXm-h-\-Ifpwicn

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - II) (PART - B)

A Sn-ÿ m-\-imkv{Xw

b) \mev{]kvXm-h-\-Ifpw sX‰v

c) B Zy{]kvXm-h\Hgn-sI-bp≈ sX√mw icn

d) A hkm\sØ {]kvXm-h\am{Xw sX‰v

4) am[y--a-Ø ns‚ klm-b-an-√msX Xm]w Hcn-SØ p

\n∂vas‰m-cn-S-tØ °vFØ p∂ coXn-bm-W t√m

hnIn-c-W w.Xmsg]d-bp-∂-h-bn¬ hnIn-c--W -Ø n-

eqsS Xm]-t{]-jW w \S-°m-Ø XvFhnsS ?

a) IØ p∂ A Sp-∏n\pkao]w\n∂m¬NqSvIńp-

∂Xv

b) sXfn™ _ƒ_n\pkao]w NqSvA \p-̀-h-

s∏-Sp-∂-Xv.

c) kqcys‚ NqSv\ap°vA \p-̀hs∏Sp-∂-Xv.

d) sh≈ w Xnf-°p-∂Xv

5) HcpA eq-an-\n-b-∏m-{X-Ø nseNqSp-sh≈ wA ev]-

t\-c-Ø n\ptijw XW p-°p-∂XvXm]-\jvSw

kẁ -hn-°p-∂-Xp-sIm-≠ m-W t√m.Xm]\jvSw

kẁ -hn-°p-∂XvG Xphgn-bn-eq-sS-bmW v?

a) kwh-l\w

b) Nme\w

c) hnIn-cW w

d) ta¬∏-d™ F√mhgn-I-fn-eq-sSbpw

6) Xm]waqewhnImkwkẁ -hn-°m-Ø Xv?

a) {ZmhIw

b) Jcw

c) hmXIw

d) Ch-sbm-∂p-a-√.

A [ymbw 9Xm]-sam-gp-Ip∂ hgn-Iƒ

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
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7) sX¿tam-ao-‰-dn¬ D]-tbm-Kn-°p∂ hkvXpXmsg

]d-bp-∂-h-bn¬ G XmW v?

a) Kmenbw

b) {Zmh-I-lo-enbw

c) sa¿°pdn

d) {ZmhI ss\{S-P≥

8) apdn-I-fn¬koenw-Kn-t\mSvtN¿∂vFb¿tlmfp-

Iƒ\n¿Ωn-°p-∂-Xns‚ ImcW w

a) ǹØ n-bpsSDd-∏n\v

b) NqSp-aqew hnI-kn-°p∂ hmbp]pdØ p

t]mIp-∂-Xn\v

c) Im‰vèn-°p-∂-Xn\v

d) shfn®wèn-°p-∂-Xn\v

9) IS¬°m-‰p-ambn_‘-s∏́ Xmsg]d-bp∂

{]kvXm-h-\-I-fn¬ sXt‰Xv?

a) ]I¬ ka-b-Ø mW vIS¬°m-‰p-≠m-Ip-∂Xv

b) IS¬ thKwNqSp-]n-Sn-°p-IbpwthKwXW p-

°p-Ibpw sNøp-∂p.

c) Ic-thKw NqSp-]n-Sn-°p-Ibpw thKw XW p-

°p-Ibpw sNøp-∂p.

d) cm{XnIc-°m-‰p-≠m-Ip-∂p.

10)Im‰vD≠ m-Im≥ImcW wXmsg]d-bp-∂-h-bn¬

F¥mW v?

a) CSn-an-∂¬

b) taL-ß ƒ

c) q̀an-bpsS Id°w

d) a¿±-hy-Xymkw

11) IØ n®ph®hnf-°ns‚apIƒ m̀-KØ vhi-ß -

fn-te-°mƒ NqSvIqSp-X-em-bn-cn°pw CXn\p

ImcW w

a) kwh-l\w

b) Nme\w

c) hnIn-cW w

d) Ch-sbm-∂p-a√
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1) \\-hp≈ £̀ y-h-kvXp-°ƒ DW -ß n-b-hsb

A t]-£ n®vthKw tISm-hp-∂-Xns‚ ImcW w

a) Ddp-ºns‚ B {I-aW w \\-hp≈ hkvXp-°-

fn¬ IqSp-X¬

b) \\-hp-≈-Xn-\m¬A ]-I-S-I-c-ambhkvXp-°ƒ

]‰n-∏n-Sn-°p∂p

c) Cu¿∏-ap-≈ -t∏mƒ kq£ v-a-Po-hn-I-fpsS

{]h¿Ø \wIqSp-∂p.

d) \\-hp-≈-h° v̀ mc-°q-Sp-X-ep-≈-Xn-\m¬

s]s ∂́vA gp-Ip-∂p.

2) kq£ vaPohn-Iƒ {]h¿Ø -\-\n-c-X-am-Ip-∂Xv

Xmsg]dbp-∂-h-bn¬ G Xpkµ¿̀-Ø n¬ ?

a) hfscXmgv∂ Xm]-\n-e-bn¬

b) hfscDb¿∂ Xm]-\n-e-bn¬

c) anX-ambXm]-\n-e-bn¬

d) -G XpXm]-\n-e-bnepw

3) D∏p-sh-≈ -Ø n-eń amß -Np-cp-ß p-∂-Xns‚

ImcW w

a) D∏p-sh≈ w amß sb sRcp-°p-∂p.

b) amß -bnsePemwiwD∏p-sh-≈-Ø n-te°vCd-

ß p-∂p.

c) kq£ vaPohn-I-fpsS{]h¿Ø \waqew

d) D∏p-sh≈ wamß -bpsSXm]-\neXmgvØ p∂p

4) eqbn]mkvN-dp-ambn_‘-s∏́ vXmsgsImSp-Ø n-

cn-°p∂ {]kvXm-h-\-Ifn¬ H∂vsX‰mW v.G Xm-

W Xv?

a) A t±l wP\n-®Xv{̂ m≥kn-emW v

b) tKmh-kqcn{]tbmKwI≠ p-]n-Sn-®XvA t±-l-

am-W v.

c) t]∏ ńhnj-Ø n\vacp∂vIs≠ -Ø nb

imkv{X-⁄ -\mW vA t±lw

A [ymbw10kpc£ £̀ -W -Ø nepw

d) ]m¬ tI-Sp-Iq-SmsX kq£ n-°p-∂-Xn-\p≈

am¿§wIs≠-Ø n-bXvA t±-l-amW v

5) ]mkvN-ssd-tk-j≥ \S-Ø p-tºmƒ ]m¬ tISm-

Im-Xn-cn-°p-∂XvXmsg]d-bp-∂-h-bn¬F¥pImc-

W -Ø m-emW v?

a) 700c hscNqSm-°p-tºmƒkq£ vaPo-hn-Iƒ
\in-°p∂p

b) ]m¬\∂mbnXW p-∏n-°p-tºmƒkq£ va-Po-

hn-Iƒ\in-°p∂p

c) IqSp-X¬ kabw NqSm-°p-∂-Xp-sIm-≠mW v

kq£ va-Po-hn-Iƒ\in-°p-∂Xv

d) ]mkvN-ssd-tk-j-\n¬ s]s -́∂p≈ Xm]-hy-

Xymkw aqew kq£ -a-Po-hn-I-fpsS tImi-

kvXcw s]ḿnA h\in-°p-∂p.

6) Xmsg]d-bp-∂-h-bn¬{]nk¿th-‰ohvA √m-Ø Xv

G Xv?

a) A tam-W nbw t¢mssdUv

b) D∏p-em-b\n

c) ]© m-kmcemb\n

d) tkmUnbw _≥tkm-tb‰v

7) ]men¬ ambw Is≠-Ø m≥ casNbvX ]co-

£ W w CXm:̨5 ml ]m¬ HcpsSÃvSyq_n¬

FSpØ vA Xn-te°v2Xp≈ nA b-Un≥emb\n

tN¿Ø p.A t∏m¬ Ccp≠ \oe-\ndw D≠ m-bn.

FØ m-hp∂ \nK-a\wF¥mW v?

a) ]men¬ amb-ap≠v

b) ]men¬ IqSp-X¬ sh≈ w tN¿Ø n-́p≠ v

c) ]men¬ A ∂PwIe¿∂n-́p-≠v.

d) ]m¬ ip≤-amW v

8) emIvtSm-ao-‰¿Xmsg]d-bp-∂-h-bn¬ F¥vB h-

iy-Ø n-\mW vD]-tbm-Kn-°p-∂Xv?

a) sh≈-Ø nseamen\ywImW m≥
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b) ]men¬ PemwiwImW m≥

c) ]men¬ amen-\y-apt≠mF∂-dn-bm≥

d) ]men¬ A ∂-P-apt≠mF∂-dn-bm≥

9) £̀ y-h-kvXp-°fpsS KpW -\n-e-hmcw Dd-∏p-h-cp-

Ø p-∂-Xn\pwkpc-£ °vB h-iy-ambap≥I-cp-

X-ep-Iƒ FSp-°p-∂-Xn\pw B h-iy-amb \n¿t±-

i-ß ƒ A S-ß nb \nb-a-amW v̂ pUvtk̂ vSn

B ‚vÃm≥tU¿UvB IvSv.Cu\nbaw{]m_-

ey-Ø n¬ h∂XvG Xvh¿jw?

a) 2005 b)2006

c) 2010 d)2011

10) £̀ y-h-kvXp-°ƒ°v\ndw\¬Im≥hnhn-[-bn\w

cmk-h-kvXp-°ƒD]-tbm-Kn-°p-∂p.Nph∏v\ndw

Ińm≥ tN¿°p∂ hkvXp

a) Fdn-t{Xm-kn≥

b) Sm¿Sm-kn≥

c) C≥U ntKmIm¿ssa≥

d) tkmUnbw _≥tkm-tb‰v
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1. (b) 2. (b) 3. (d) 4. (a) 5. (c) 6. (b)

7. (d) 8. (d) 9. (b) 10. (d) 11. (c) 12. (a)

13. (b) 14. (c) 15. (b)

USS EXAMINATION - FEBRUARY 2020
MODEL QUESTIONS

(PAPER - II) (PART - B)

A Sn-ÿ m-\-imkv{Xw˛DØ-c-kq-NnI

A [ymbw 1̨aÆn¬ s]m∂p-hn-f-bn°mw

1. (b) 2. (d) 3. (b) 4. (d) 5. (c) 6. (a)

7. (b) 8. (b)

A [ymbw 2˛{]Imi hnkva-b-ß ƒ

1. (a) 2. (b) 3. (d) 4. (a) 5. (d) 6. (b)

7. (b) 8. (c) 9. (c) 10. (c) 11. (c) 12. (c)

13. (a)

A [ymbw 3˛B knUpw B ¬°-en-Ifpw

1. (a) 2. (c) 3. (c) 4. (c) 5. (a) 6. (c)

7. (c) 8. (b) 9. (d) 10. (c) 11. (d) 12. (b)

A [ymbw 4˛A ∂-]-Y-Ø n-eqsS

1. (a) 2. (d) 3. (c) 4. (d) 5. (b) 6. (a)

7. (c) 8. (d)

A [ymbw 5 s̨shZypXn{]h-ln-°p-tºmƒ

1. (d) 2. (c) 3. (c) 4. (3) 5. (a) 6. (b)

7. (d) 8. (c) 9. (b) 10. (d) 11. (b) 12. (b)

A [ymbw 6˛\n¿Ω-e-amb {]Ir-Xn-°mbn

Sot®gvkv¢∫vtIme-t©cn,Fd-Wm-Ipfw
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1. (d) 2. (b) 3. (c) 4. (a) 5. (b) 6. (a)

7. (b)

A [ymbw 7̨ a¿±w {Zmh-I-Ø nepw hmX-I-Ø nepw

1. (b) 2. (d) 3. (d) 4. (c) 5. (d) 6. (a)

7. (a) 8. (d) 9. (b) 10. (d)

A [ymbw 8˛{]mW -hm-bphpw Poh-c-‡ hpw

1. (c) 2. (a) 3. (d) 4. (d) 5. (d) 6. (d)

7. (c) 8. (b) 9. (b) 10. (d) 11. (a)

A [ymbw 9̨ Xm]-sam-gp-Ip∂ hgn-Iƒ

1. (c) 2. (c) 3. (b) 4. (b) 5. (d) 6. (a)

7. (c) 8. (b) 9. (c) 10. (a)

A [ymbw10̨ kpc£ £̀ -W -Ø nepw
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